Vacuum Pad

Series ZP3

01.5, 02, 3.5, 04, 06, 28, 010, 513, 16

Page

Flat

For adsorption of
general workpieces
For adsorption of work
pieces with flat and not
deformed surface

Flat with groove
For a workpiece which

is likely to deform
For releasing a workpiece

o0

certainly

Bellows

For adsorption of work
. st pieces with inclined
.~ surface

Vacuum inlet direction

°

0 0 O 0 ¢

00 00 0O

NBR
Silicone rubber
Urethane rubber

P.1122

FKM
Conductive NBR
Conductive silicone rubber

Vertical Male thread ‘ M3, M5 ‘
. Female thread ‘ M3, M5 ‘
) 4 Without buffer P 1124
(with adapter) " Polyurethane tubing @2 | ' *
ﬁ Barb fitting ‘ Soft nylon/ ‘
Polyurethane tubing 94, o6
Zp3 T I00-C ] One-touch fitting ‘ 02, 94, 06 ‘
Vertical m
Stroke with buffer Female thread | M3, M5
g $$ Polyurethane tubing 62 | ZP2
t 10 mm Barb fitting Soft nylon/ P.1136 PV
% 15 mm Polyurethane tubing o4, 06
20 -
mm One-touch fitting | 02, o4, 06 P
zP3-T[] E
ZPR
Lateral Female thread ‘ M3, M5 ‘
Without buff Polyurethane tubing g2 ‘ XT661
ithout buffer -
- - - . Barb fitting Soft nylon/ P.1146
(Wlth adapter) Pglygxe$r?ane tubing be 04, 06 ‘
zP3-Y[1O0O-00-0 One-touch fitting ‘ 22, g4, 86 ‘
Stroke with buffer Female thread | M3, M5
2 mm Polyurethane tubing @2 ‘
10 o Barb fitting p—— P.1152
Polyurethane tubing o4, 06 ‘
15 mm
=1 20 mm s
ZP3-Y:|DD“':BD'D One-touch fitting | @2, 94, 86
Construction e P.1162 Mounting Adapter Part No. - P.1168
Adapter Applicable Pad List P.1163 Buffer Assembly Part No.--- P.1170
Buffer Applicable Pad List:-- P.1164

1121



Symbol/Type

Compact Pad U: Flat

Q > UM: Flat with
a
01.5, 02, 63.5, 04, 26, 08, 010, 013,016 ) |  _droove

ellows

How to Order .
—
! —
Pad diameter Pad material
Symbol|Pad diameter Symbol Material
015 | 015 NBR
02 02 S Silicone rubber
035 | 035 U Urethane rubber
04 o4 F FKM
0 06 GN Conductive NBR
0 08 GS _[Conductive silicone rubber
210
o 212 Pad type—Pad diameter
Pad i
Pad e —Girts] 015 | 02 [035| 04 | 06 |08 | 10| 13 | 16
U (Flat) [) - == =1 =
[UM (Flatwithgroove) — | — | — | @ | @ | ® | ® ©® | @
| B (Bellows) — |l -1 — e/ ® & & e e
* Sales unit
01.5t0 @8 : 10 pcs.
010t0 016 : 5 pes.
Dimensions: Pad Unit
ZP3-015U] [Weight: 0.1 g] ZP3-02U[] [Weight: 0.1 g] ZP3-035UL[] [Weight: 0.1 g]
3 23 03
02 02 _ o2
1.5 01.5 01.5
N - ” l i
™ [ ) | © [
=l S1IGEY L} o
20.8 mT 20.8 ] 20.8 @
=) S — 5]
215 22 23.5
02 92.5 o4
ZP3-04UMC] [Weight: 0.3 g] ZP3-06UMC] [Weight: 0.3 g] ZP3-08UMC] [Weight: 0.3 g]
o7 07 o7
o5 o5, 05
23 23 ﬂ
— | |
J R l EITEEY l ] o
© © © ]
n 0 L n
orz| ||t 02| |of ~ 02| [af ”
o4 | € LL o0 | °
94.5 6.5 28.5

® @

1122



Dimensions: Pad Unit

Flat
with
groove

Bellows]

ZP3-10UML] [Weight: 0.6 g]
29

26

o4
o4,
ﬂ

o~

V\E N
AR

0
1

@

ZP3-04B0] [Weight: 0.3 g]
o7
o5 _
3

Q

e &

I

L
2

21.8

[
1

)
»
o

1

ZP3-10B[] [Weight: 0.8 g]
29

26
o4

)

ZP3-13UMLC] [Weight: 0.7 g]
29

26

o4

i

ZP3-06BL [Weight: 0.3 g]

o7

i H

1.2

@5

23

™
it ~

:i‘ mi f

22
03.4
26

o7

ZP3-13B[] [Weight: 1.0 g]
29

26
o4

aﬁ ad

ZP3-16UMC] [Weight: 0.8 g]
29

26
|

i

ZP3-08BL[] [Weight: 0.4 g]

ZP3-16B[] [Weight: 1.1 g]
09

26
=

o4

pad unit Series ZP3

10

P2y

Applicable pad
015U/02U/035U

| »
i
|

:;7”

00.8 &

<
—lolg15

22

<5

Pad Mounting Dimensions

If an adapter will be made by the customer, design the adapter with the dimensions shown below.

Applicable pad

04UM/06UM/08UM/04B/06B/08B

& Pa

5

<|21.8
23
<22,
25

\Note) R part has to be smooth with no corners. *Refer to pages 1168 and 1169 for applicable adapter.

Yo

10UM/13UM/16UM/10B/13B/16B

Applicable pad

: ‘

<o
T

18 | |\
24
26

1.8

1123

> |INNI[ N N N
Sz

o 4
§ a ~ E



Series ZP3

<=
How to Order I ]
— )
Vertical vacuum inlet/
v ZP3 - T 015 U[N|-A6-B3 4
Vacuum inlet direction Vacuum inlet ()
Syl v inlet Mounting thread size
Y| ‘acuum inlef A6 A10 A2
B M3 x 0.5 female thread [ — —
Pad diameter B M5 x 0.8 female thread — D) o
Symbol [Pad diameter| Symbol [Pad diameter U ©2 tubing/barb fitting 1 ([ ] ([ ] [ ]
015 | 215 08 08 U 04 tubing/barb fitting *2 o ® ®
02 2 0 210 06 tubing/barb fitting *2 — — )
035 | 035 3 | o013 02 22 tubing [] [ [
04 o4 6 | ol6 04 04 tubing [) [] []
06 06 06 96 tubing — — °
Nil — A3/A5/B3/B5
Pad type—Pad diameter #1 Polyurethane tube piping
- Pad diag/\:lt’glg 015| 02 | 035| 04 | 06 +2 Soft nylon/Polyurethane tube piping
M i i
U (Fla) o o o —  — ounting thread size
[ UM (Flat withgroove) | — | — | — | @ | @ . Mounting 01.5 o4 010
B — T — = e | e Pad material (C) Symbol = ead size] 10 03.5 | 008 | to016
- Symbol Material A3* | M3x0.5 [ — —
Pad di f 3
Pad e ———ioymoeh| 08 | 10 | 13 | 16 NBR Male |_AS* | M5x0.8 | — ° °
ad ype S Silicone rubber A6 | M6x0.75 | @ — —
U (Flat) e el el e thread
- U Urethane rubber A10 | Mi0x1 — [ ) —
UM (Flatwithgroove) | @ | @ | @ | @ F FKM A12 Mi2 x 1 — — [
B (Bellows) ® o o o - *
LB (Bell GN | Conductive NBR Female |_B3* | M3x05 | @ — —
GS [ Conductive silicone rubber thread | B5* | M5x0.8 — [ [ ]
* indicates vacuum inlet symbol is "Nil".
Replacement Part No.
Pad diameter: ¢1.5 to 03.5 Pad di :210to 216
Model Pad unit part no. Adapter part no. Model Pad unit part no. Adapter part no.
ZP3-T (015/02/035) UC]-A3 ZP3A-T1-A3 ZP3-T (10/13/16) UMLJ-A5 ZP3- (10/13/16) uMO ZP3A-T3-A5
ZP3-T (015/02/035) UC]-B3 ZP3-(015/02/035)UC] ZP3A-T1-B3 ZP3-T (10/13/16) BLJ-A5 ZP3- (10/13/16) BO
ZP3-T (015/02/035) UCI-A6-C ZP3A-T1-A6-B3 ZP3-T (10/13/16) UMLJ-B5 ZP3- (10/13/16) uMO ZP3A-T3-B5
Note 1) O in the table indicates the pad material. ZP3-T (10/13/16) BLI-B5 ZP3- (10/13/16) BL]
Note 2) <> in the table indicates the vacuum inlet. ZP3-T (10/13/16) UMLI-A12-O[ ZP3- (10/18/16) UML_ [ 0y 10 2155
Note 3) Fitting is ordered separately. ZP3-T (10/13/16) BU-A12- ZP3- (10/13/16) B
Suffix of how to order (<) U2: M-3AU-2, U4: M-3AU-4-X83 ZP3-T (10/13/16) UMCI-A12-04 | ZP3- (10/13/16) UMO] ZP3A-T3-A12-04
02 KJH02-M3, 04: KJH04-M3-X83 ZP3-T (10/13/16) BO-A12-04_| ZP3- (10/13/16) BOI
. . ZP3-T (10/13/16) UMCI-A12-06 | ZP3- (10/13/16) UML]
Pad diameter: 24 to 28 _ ZP3-T (10/13/16) BL-A12-06 | ZP3- (10/13/16) B ZP3AT3-A12-06
ZP3T Mod] META [ECTUTHEET nod jAdapteriariio) Note 1) [Jin the table indicates the pad material.
ZPS.T gD A- 5 |ZP3- (04/06/0% ZP3A-T2-A5 Note 2) <> in the table indicates the vacuum inlet.
3- -D S ZP3- (04/06/08) B Note 3) Fitting is ordered separately.
ZP3-T ug -BS | ZP3- (04/06/08) UML | pa 155 Suffix of how to order (&) U2: M-5AU-2, U4: M-5AU-4-X83
ZP3-T BL-BS___|ZP3- (04/06/08) BL) UB: M-5AU-6-X83,02: KJH02-M5

ZP3-T (04/06/08) UMLI-A10-

ZP3- (04/06/08) UMC]

ZP3-T (04/06/08) BLI-A10-

ZP3- (04/06/08) B

ZP3A-T2-A10-B5

ZP3-T (04/06/08) UMLJ-A10-04

ZP3- (04/06/08) UML]

ZP3-T (04/06/08) B[1-A10-04

ZP3- (04/06/08) B

ZP3A-T2-A10-04

Note 1) O in the table indicates the pad material.
Note 2) <> in the table indicates the vacuum inlet.
Note 3) Fitting is ordered separately.

Suffix of how to order (&) U2: M-5AU-2,U4: M-5AU-4-X83,

02: KJH02-M5

Pad diameter [z oY CY- KR
Pad type [IEECTIND)

ZP3-T035U-A3

Dimensions/With Adapter: Vacuum Inlet Vertica
ZP3-T02U[]-A3

ZP3-T015UCI-A3

[Weight: 0.6 g]

[Weight: 0.6 g]

[Weight: 0.6 g]

M3 x 0.5 M3x0.5 M3 x 0.5
Width across flat 5 Width across flat 5 Width across flat 5
s 0 0
N o o I:
0 0 o ﬁ r
©f o ©f o @©| o L
o o ©» _H
Y
208 2T 208 3 008 i
1.5 02 3.5
oz | 0235
02 225 24

1124




With Adapter: Vacuum Inlet Series ZP3

ELEELEE 61,5 to 3.5
Dimensions/With Adapter: Vacuum Inlet Vertical

ZP3-T015U-B3 ZP3-T02U-B3 ZP3-T035U-B3
[Weight: 0.9 g] [Weight: 0.9 g] [Weight: 0.9 g]
M3 x 0.5 M3 x 0.5 M3 x0.5
Width across flat 5 Width across flat 5 Width across flat 5
NTTTT NTTT Y
3 ) 3 ) 3 =
(‘7[ 7*4F (")l j,L( * ™ — T

00.8 °© 008 ° 00.8 e
215 02 3.5
|22 | 22.5 24
ZP3-T015U]-A6-B3 ZP3-T02ULI-A6-B3 ZP3-T035U-A6-B3
[Weight: 2.8 g] [Weight: 2.8 g] [Weight: 2.8 g]
M6x075 . Mm3x05 M6x0.75 _ Mm3ax05 M6x0.75 | Mmaxo05
Width across | { 1 Width across | 1 } Width across { 1
fiat8 o= flat8 o flat8 e
o o o
oL j ol L j ol L j
© Width across 0 Width across © Width across
flat 5 flat 5 flat 5
N == « == A ==
™ —H ™ —H ™ —H
Y =0 =R,
00.8 OT 00.8 °T 00.8 °T
215 02 | 035
22 22.5 o4
Vacuum Inlet Dimensions
ZP3-T015U1-A6-U2 ZP3-T015UC1-A6-U4 ZP3-T015U-A6-02 ZP3-T015U1-A6-04
ZP3-T02U-A6-U2 ZP3-T02U-A6-U4 ZP3-T02UI-A6-02 ZP3-T02UI-A6-04
ZP3-T035U-A6-U2 ZP3-T035U-A6-U4 ZP3-T035U-A6-02 ZP3-T035UC1-A6-04
1.2 L
o 209 2 g ‘ \::::1
c
:g )’*f‘& ‘E- Width across
= { ) Width across S I fatss < Width across
= & E o s H | / 2 flat 8
o < = | | S /
dHHE 9| | 1]
Width across 7 N =7 i © T— 7
flat 4.5 [ ‘ ‘ | [ ‘ ‘ | T r
M-3AU-2 [Weight: 0.7 g]*2 | M-3AU-4-X83 [Weight: 0.7 g]*2 KJHO02-M3 [Weight: 1.1 g]*2 KJH04-M3-X83 [Weight: 1.9 g]*2

#1 Refer to "ZP3-TAAAU-AB-B3" for dimensions.
#2 When calculating the weight, add the weight of the fitting to "ZP3-TA AAUO-A6-B3".

1125

> |NNINTTNITN
= ||uu
- )



Series ZP3
Pad diameter

Dimensions/With Adapter: Vacuum Inlet Vertical LAY/ Flat with groove
ZP3-T04UMC-A5 ZP3-T06UMCI-A5 ZP3-T08UMCI-A5
[Weight: 1.7 g] [Weight: 1.7 g] [Weight: 1.7 g]
M5 x 0.8 M5x0.8 M5x 0.8
Width across flat 7 Width across flat 7 Width across flat 7

i

-1\ [ |

115
2.5
115
2.5

012 3 018 3 018 3
o4 06 28
04.5 6.5 8.5
ZP3-T04UM-B5 ZP3-TO6UMCI-B5 ZP3-TO8UMI-B5
[Weight: 2.3 g] [Weight: 2.3 g] [Weight: 2.3 g]
M5 x 0.8 M5x08 M5x08
Width across flat 7 Width across flat 7 Width across flat 7
NER ST ST
0 0 ©
; ~ o —

21.2 @ [ARN 3 01.8 @
o4 26 08
04.5 6.5 08.5

1126



With Adapter: Vacuum Inlet Series ZP3

Pad diameter
Dimensions/With Adapter: Vacuum Inlet Vertical Pad type

ZP3-T04UM[I-A10-B5 ZP3-TO6UMCI-A10-B5 ZP3-TO8UMCI-A10-B5
[Weight: 11.0 g] [Weight: 11.0 g] [Weight: 11.0 g]
X M10x 1 M10 x 1 M10x 1
Width across D Width across " Width across D
flat 14 M5 x 0.8 flat 14 M5 x 0.8 flat 14 M5x0.8
| 0 | 0 | o
™ ® ) \
N N o
ki ) ki ) i )
8 - 8 [ 8 (-
3 [T 3\ [T 3\ [T
Width across| i Width across Width across
flat 7 flat 7 flat 7
©o | © |1 © |1
ot2] | 0 018 o 01.8 ©
o4 | ° 06 ° o8 ©
24.5 6.5 8.5
Vacuum Inlet Dimensions
ZP3-T04UMO-A10-U2 ZP3-T04UMOI-A10-U4 ZP3-T04UMI-A10-02
ZP3-T06UMI-A10-U2 ZP3-T06UMI-A10-U4 ZP3-T06UMI-A10-02
ZP3-T08UMI-A10-U2 ZP3-T08UMCI-A10-U4 o ZP3-T08UMCI-A10-02
c
o 21.8 =
£ M’\ - E Width across flat 7
E §:§ Width flat 7 5 N
s ,g ’_r\E g = dth across flat g g;
o ~ ~ -
ra / .
- iz == o
Width across flat 7 F‘ﬂ o
. . ! ZP2
M-5AU-2 [Weight: 1.5 g]*2 M-5AU-4-X83 [Weight: 1.6 g]2 KJH02-M5 [Weight: 1.9 g]*2
#1 Refer to "ZP3-TAAUMO-A10-B5" for dimensions. 7PV
#2 When calculating the weight, add the weight of the fitting to "ZP3-TAAUMO-A10-B5".
ZP3-T04UMCI-A10-04 ZP3-T06UMI-A10-04 ZP3-T08UM-A10-04 P
Width across [Weight: 10.2 ] Width across [Welght: 1_0'2 g Width across [Weight: 10.2 g] ZPT
flat 14 Applicable tubing: 4 flat 14 Applicable tubing: o4 flat 14 Applicable tubing: 4 ZPR
7 7 7
—— —— —— XT661
el C L [ T3 el PO LT T3 [l [ L)
M10x 1 u74u¢ M10x 1 u74u¢ M10x 1 u74u¢
« - .28 N 08 ~ N 08
Width across Width across Width across
© flat7 — © fiat7 — © flat7 L
02| | [ 018 © 018 ©
o4 | ° 26 ° 28 ©
24.5 26.5 8.5

®

1127



Series ZP3

ELEELEEY 610 to 616

LR 3 Flat with groove)

Dimensions/With adapter: Vacuum inlet Vertical
ZP3-T13UMC-A5

ZP3-T10UMLI-A5 ZP3-T16UMLCI-A5

Width across

[Weight: 3.0 g]

Width across

[Weight: 3.1 g]

Width across

[Weight: 3.2 g]

flat 10 M5x08 flat 10 M5x08 flat 10 M5x0.8
- o1\ [ o1\ [
3 Q 2 T
o =} 0 Y
o o o
~ ~ Ll ~ |
‘6 iz t =
~t o o
21.8 218 — 21.8 -
210 013 016
011 014 017
@)
ZP3-T10UM[I-B5 ZP3-T13UMCI-B5 ZP3-T16UM[I-B5
[Weight: 5.7 g] [Weight: 5.8 g] [Weight: 5.9 g]
Width across M5 x 0.8 Width across M5 x 0.8 Width across M5x0.8
flat 10 - flat 10 I flat 10 —
F - F -
~ ’77 ~ Ll ~ [l
= Y B M
21.8 - 21.8 o 018 | o
010 013 016
o211 014 217

1128

)
&



With Adapter: Vacuum Inlet Series ZP3

Dimensions/With Adapter: Vacuum Inlet Vertical

ZP3-T10UMCI-A12-B5
[Weight: 18.8 g]

ZP3-T13UMC-A12-B5
[Weight: 18.9 g]

(ZLEELEEY 610 to 616

L I3 Flat with groove

ZP3-T16UMC-A12-B5
[Weight: 19.0 g]

30

M5 x 0.8 M5 x 0.8 M5 x 0.8
Width across © Width across [} Width across [t}
flat 14 flat 14 flat 14
o © o & @ ol o o
- o~ ( - o C - o~ C
M12x 1 M12x 1 Mi12x1
o o
Width across flat 14 1 @ Width across flat 14 ©® Width across flat 14 1
I - — —
;
) ) [ % 0
o & &
~ — ~ ~
17 f I i
= I
1.8 "? 21.8 N 21.8 o
210 013 - 016 ”
ol 014 17

Vacuum Inlet Dimensions

Barb fitting

o
=
£
=
=
S
3
]
@
c
o

ZP3-T10UMO-A12-U2
ZP3-T13UMO-A12-U2
ZP3-T16UMO-A12-U2

ZP3-T10UMO-A12-U4
ZP3-T13UMO-A12-U4
ZP3-T16UMO-A12-U4

ZP3-T10UMO-A12-U6
ZP3-T13UMO-A12-U6
ZP3-T16UMO-A12-U6

Width across flat 7 ©0.9

M-5AU-2 [Weight: 1.5 g]*2

(6.5)

01.8

7% Width across flat 7
E
1 1

M-5AU-4-X83 [Weight: 1.6 g]2

(8.5)

2.5
JiGEiY
s I
g f y Width across flat 7
L1 1]

M-5AU-6-X83 [Weight: 1.8 g]2

ZP3-T10UMO-A12-02
ZP3-T13UMO-A12-02
ZP3-T16UMO-A12-02

Width across flat 7

(8.7)

i

KJH02-M5 [Weight: 1.9 g]"2

«1 Refer to "ZP3-TAAUMO-A12-B5" for dimensions.
«2 When calculating the weight, add the weight of the fitting to "ZP3-TAAUMO-A12-B5".

1129

P2y

> |NNINTTNITN
=



Series ZP3

Dimensions/With Adapter: Vacuum Inlet Vertical

Width across

ZP3-T10UM-A12-04

[Weight: 20.2 g]

Width across

ZP3-T13UM-A12-04

[Weight: 20.3 g]

Width across

ELEELEEY 610 to 616

LR Flat with groove

ZP3-T16UM-A12-04
[Weight: 20.4 g]

flat 14 Applicable tubing: 04 flat 14 Applicable tubing: 04 flat 14 Applicable tubing: 04
7 7 7
ol © @ D o © @ D ol [ D
7| e @ D T @ D 7| e C D
@ Mi12x1 @ M12x 1 ® Mi12x1
@ Width across @ Width across @ Width across
flat 14 flat 14 flat 14
° ° ° %
o & o
S Y i ===t
01.8 - 01.8 o 21.8 o
010 013 - 216 -
211 o014 817
an D
ZP3-T10UM-A12-06 ZP3-T13UM[-A12-06 ZP3-T16UM-A12-06
[Weight: 18.1 g] [Weight: 18.2 g] [Weight: 18.3 g]
Applicable tubing: 06 Applicable tubing: 06 Applicable tubing: 06
Width across Width across Width across
flat 14 flat 14 flat 14
ol © [ D) o [ D ol © 4] D)
ol e C D) T e C D ol e C D)
% M12x 1 % M12x 1 % Mi12x 1
Width across flat 14 Width across flat 14 Width across flat 14
0 ) 0
® B #
" 7@! " 7'—E? L " 7é L
01.8 - 018 o 01.8 o
210 013 - 016 -
ol o014 17

1130




With Adapter: Vacuum Inlet Series ZP3

Pad diameter
Dimensions/With Adapter: Vacuum Inlet Vertical Pad type
ZP3-T04B-A5 ZP3-T06B[1-A5 ZP3-T08BLI-A5
[Weight: 1.7 g] [Weight: 1.7 g] [Weight: 1.8 g]
Width across Width across Width across
flat 7 flat 7 M5 x 0.8 flat 7 M5x0.8
= ]
21.8 01.8
04 034 05.2
045 - 8
26
o7 29
ZP3-T04B[1-B5 ZP3-T06B[1-B5 ZP3-T08B[I-B5
[Weight: 2.3 g] [Weight: 2.3 g] [Weight: 2.4 g]
mﬁ;h across M5 x 0.8 Ylvaltd ;h across M5 x 0.8 X!i:j;h across M5x0.8
NT [ 1 NT [
0 0 7 0 —
=l =g ] ]
21.8 21.8 01.8

o4 ] 034 | 052 |

24.5 26 28

o7 29

22

1131

P2y

>~ |NNN|NITN
=Rk
SNEE =



Series ZP3

. Pad diameter
Dimensions/With Adapter: Vacuum Inlet Vertical Pad type

ZP3-T04B-A10-B5 ZP3-T06B]-A10-B5 ZP3-T08B]-A10-B5
[Weight: 11.0 g] [Weight: 11.0 g] [Weight: 11.1 g]
M10x 1 ‘ M10x 1 | M10x 1 ‘
Width across Width across Width across
fat 14 | Moxes fat 14 M5 x 0.8 flat 14 M5x08
‘ 0 ‘ n wn
o O o O o O
o o o
<™ <+ < T
i ) i ) | el )
§ I § | § |
o [T [\ T o [T
Width across| Width across Width across
flat 7.
© 1 © | © S—1 |
= =i =
21.8 x 1.8 1.8
o4 | 03.4 052
04.5 26 28
o7 29
Vacuum Inlet Dimensions
ZP3-T04BI-A10-U2 ZP3-T04BI-A10-U4 ZP3-T04B-A10-02
ZP3-T06BI-A10-U2 ZP3-T06B-A10-U4 ZP3-T06B[1-A10-02
ZP3-T08BI-A10-U2 ZP3-T08BI-A10-U4 ZP3-T08B[-A10-02
21.8 o
o 20.9 %
— I = Width across
.g | = flat7
A | Q| o Width across g N v
< @ < flat 7 3 @
C y LA ¢
Width across T T 8 };4(
M-5AU-2 [Weight: 1.5 g]*2 M-5AU-4-X83 [Weight: 1.6 g]*2 KJH02-M5 [Weight: 1.8 g]*2
#1 Refer to "ZP3-TA ABO-A10-B5" for dimensions.
#2 When calculating the weight, add the weight of the fitting to "ZP3-TAABO-A10-B5".
ZP3-T04B[-A10-04 ZP3-T06B[-A10-04 ZP3-T08B[-A10-04
[Weight: 10.2 g] [Weight: 10.2 g] [Weight: 10.3 g]
Width across Width across Width across
flat 14 Applicable tubing: g4 flat 14 Applicable tubing: 04 flat 14 Applicable tubing: o4
- - -
- 1 1
L] @ [l
RN Bl sl
™ @ [}
] M0 x 1 & M0 x1 N & M10 x1
I3\ 08 L -1 o8 [\ - o8
Width across :[5 Width across Width across
© flat 7 - © flat7 < © flat 7 ]
= =g ] ==k
218 . 01.8 01.8
o4 || & 03.4 05.2
24.5 26 28
a7 29

1132




With Adapter: Vacuum Inlet Series ZP3

ELLELEEY 610 to 16
Pad type

ZP3-T16B[1-A5
[Weight: 3.5 g]

Dimensions/With Adapter: Vacuum Inlet Vertical

ZP3-T10B-A5
[Weight: 3.2 g]

ZP3-T13B-A5
[Weight: 3.4 g]

Width across Width across Width across
flat 10 M5 x 0.8 flat 10 M5 x 0.8 flat 10 M5 x 0.8
g O 2 OJI
? ? E IE o
~ ~f
1.8 1.8 01.8
26 08.4 o11.4
210 213 016
o11 o014 017
(&) AN
ZP3-T10B-B5 ZP3-T13B-B5 ZP3-T16B-B5
[Weight: 5.9 g] [Weight: 6.1 g] [Weight: 6.2 g] m
Width across Width across Width across
flat 10 M5 x 0.8 flat 10 M5x0.8 flat 10 M5 x0.8 ZPZ
] 1
L
- = -
0 0 © ZPT
2 2 = J ZPR
= £ e i D e “ J B XT661
- (\li Ni ] Nt
1.8 1.8 1.8
06 8.4 211.4
210 013 016
11 o14 017




Series ZP3

ELLELEE] 210 to 516
Dimensions/With Adapter: Vacuum Inlet Vertical Pad type

ZP3-T10B1-A12-B5 ZP3-T13B[1-A12-B5 ZP3-T16B1-A12-B5
[Weight: 19.0 g] [Weight: 19.2 g] [Weight: 19.3 g]
M5 x 0.8 M5 x 0.8 M5 x 0.8
wn wn n
Width across Width across Width across
flat 14 flat 14 flat 14
: - ‘ - -
© © ©
la s =
M12x1 M12x 1 M12x 1
Width across| Width across| Width across|
) flat 14 —n ) flat 14 —1 V) flat 14 T
& | ® | ® L
\ \ [ \ %
w d [y S 0 d
2 2 2 J
e — e H e . ‘ J B
o o o
21.8 01.8 21.8
06 08.4 o114
210 213 - 216
11 14 817
Vacuum Inlet Dimensions
ZP3-T10B-A12-U2 ZP3-T10B-A12-U4 ZP3-T10BI-A12-U6
ZP3-T13B-A12-U2 ZP3-T13B-A12-U4 ZP3-T13B-A12-U6
ZP3-T16B-A12-U2 ZP3-T16B-A12-U4 ZP3-T16B-A12-U6
- 1.8 025
[ .
:g Width across flat 7 20.9 § ‘)»77\‘
=
2 ™ " )
S o g Width across flat 7 g )’ 77( Width across flat 7
" |- JENiiiE] 1 I
M-5AU-2 [Weight: 1.5 g]*2 M-5AU-4-X83 [Weight: 1.6 g]*2 M-5AU-6-X83 [Weight: 1.8 g]*2

ZP3-T10BO-A12-02
ZP3-T13B-A12-02
ZP3-T16B-A12-02

i

KJH02-M5 [Weight: 1.9 g]*2

=1 Refer to "ZP3-TAABL-A12-B5" for dimensions.
%2 When calculating the weight, add the weight of the fitting to "ZP3-TAABO-A12-B5".

1134

Width across
flat 7.

(8.7)

o
£
=
£
<

©

=

]
-

@

=
o




With Adapter: Vacuum Inlet Series ZP3

ELEELEEY 610 to 016
Pad type

ZP3-T16B-A12-04

Dimensions/With Adapter: Vacuum Inlet Vertical

ZP3-T10B1-A12-04
[Weight: 20.4 g]

ZP3-T13B-A12-04

[Weight: 20.6 g]

[Weight: 20.7 g]

Width across Width across Width across
flat 14 Applicable tubing: 4 flat 14 Applicable tubing: o4 flat 14 Applicable tubing: o4
7 7 7
[\ o o
ool @© @
A N -~ o el o
Mi12x1 M12 x 1 M12 x 1
| ) © © )
®|  Width across flat 14| ®|  |Width across flat 14| | |Width across flat 14
C
:
0| 0| w
: ' : = A @;
2 1 S i E —m
¥ ' '
o o o
1.8 ' 1.8 t 21.8 '
26 8.4 o11.4
210 213 216
o1l 014 o17
ZP3-T10B1-A12-06 ZP3-T13B[1-A12-06 ZP3-T16B1-A12-06
[Weight: 18.3 g] [Weight: 18.5 g] [Weight: 18.6 g] m
Applicable tubing: @6 Applicable tubing: @6 Applicable tubing: 26
ZP2
) v [ )
;;,j ;;,j ; )
Width across Width across Width across ZPZV
flat 14 flat 14 flat 14
N B N D) ool D) ZPT
ZPR
o M12x1 o M12x 1 o M12x 1
@] Wigth across fiat 14 @ Width across fiat 14 & |With across fat 14 XT661
w0 w w
2 2 2 J V%
2 tl e L e —m
L ' |
o o o
1.8 ' 01.8 ! 21.8 t
26 28.4 o11.4
210 013 016
o1l 014 217




Series ZP3

Vertical vacuum inlet/

With buffer

Pad diametere

How to Order

ZP3-T015U[N]J 3-B3

Vacuum inlet direction

W

Replacement Part No.

Pad diameter: ¢1.5 to 3.5

Pad diameter: 10 to 016

Symbol [Pad diameter
015 | o015
02 02 Vacuum inlet ()
035 | o035 ; 015 o4 210
04 o4 Symbol| Connection t0 03.5 to 08 to 516
0 26 Female | B M3 x 0.5 D) — —
0 08 thread M5 x 0.8 —
0 010 U 02 tubing *1 ®
3 013 f‘?”’ U 04 tubing *2 [
6 016 ang U6 06 tubing *2 — —
. | 02 22 tubing [ []
Pad type—Pad diameter® O’}?t;;r?;(:h 04 04 tubing ° °
Pad diameter| — —
Pad t (Symbol)l 015 | 02 | 035 | 04 | 06 06 - 26 tubing
ype #1 Polyurethane tube piping
U (Flat) [ ) [ ] ®  — | — *2 Soft nylon/Polyurethane tube piping
[ _UM (Flatwithgroove) | — | — | — | @ | @ .
B (Bellows) —[—T-—Tele Stroke (W)—Buffer specifications
Pad diameter] 01.5 t0 3.5 4 to 016
o &mool| 08 | 10 | 13 | 16 Stroke J < B K
U (Flat) — = [ = 3 D ® —
| UM (Flatwithgroove) | ® | @ | ® | @ () ® -
B (Bellows) ® o o o — — ;
Pad material (OJ) 2 — — — [)
ISymbol Material +Refer to the "Specifications" below, for applicable stroke.
NBR
S Silicone rubber Buffer specifications (v%)
U Urethane rubber J Rotating
F FKM JB Rotating, With bushing
GN Conductive NBR K Non-rotating
GS | Conductive silicone rubber
Specifications
—————
. Buffer Stroke Tightening torque| . Spring reactive force
Pad diameterl, (mm) (Nom) | Mounting G siroke (N) | At full stroke (N)
21.5 10 03.5 ﬂ 36 1.5t01.8 | M6x0.75 0.4
J 3,6,10 0.2
0410016 JB 15, 20 2.0to25 | M8x0.75 0.5
K 3,6,10, 15,20

Model

Pad unit part no.

Bufer assembly part no. Note 3]

Model

Pad unit part no.

Buffer assembly part no. Note 3]

ZP3-T(015/02/035)UCIIK)3-C

ZP3-T(015/02/035)UCI(J/K)6-C

ZP3-(015/02/035)UC]

ZP3B-T1(J/K)3-B3

ZP3-T(10/13/6)UMOI(J/K)3-O ZP3-(10/13/16)

umo

ZP3B-T1(J/K)6-B3

ZP3-T(10113/16)BO(J/K)3-O ZP3-(10/13/16)

BO

ZP3B-T2B(J/K)3-B5

Note 1) O in the table indicates the pad material.
Note 2) <> in the table indicates the vacuum inlet.
Note 3) Fitting is ordered separately.

Suffix of how to order ({) U2: M-3AU-2, U4: M-3AU-4-X83
02: KJH02-M3, 04: KJH04-M3-X83

Pad diameter: 04 to 08

Model Pad unit part no. _[Buffer assembly part no. Note3)
ZP3-T )UMCI(I/K)3-CO ZP3-(04/06/08)UMC] § !
ZP3T )BO/K)3-O ZP3-(04/06/08)B0 ZP3B-T2AK)-B5
ZP3-T(04/06/08)UMCI(J/K)6-O ZP3-(04/06/08)UMC] P38 TS 5

ZP3-T(04/06/08)BLI(J/K)6-C

ZP3-(04/06/08)BC]

ZP3-T(04/06/08)UMCI(J/K)10-O>

ZP3-(04/06/08)UMC]

ZP3B-T2A(J/K)10-B5

ZP3-T(04/06/08)BLI/K)10-O ZP3-(04/06/08)800

28 TIOUOG0BUMOWBKIISD | ZP6-0BOBUNET | Jpe o o
ZP3-T(04/06/08)BLIUBIK)15-O | 7P3-(04106/08)80)
ZP3-T(04/06/08)UMIIJBIK)20-C | ZP3-(04/06/08)UNIC] ; -
ZP3-T(04/06/08)BWUBIK)20> | ZP3-(04/06/08)B03 ZP3B-T2AUBK)20-85

Note 1) O in the table indicates the pad material.
Note 2)  in the table indicates the vacuum inlet.
Note 3) Fitting is ordered separately.

Suffix of how to order () U2: M-5AU-2, U4: M-5AU-4-X83

1136

02:

KJH02-M5, 04: KJH04-M5

ZP3-T(10/13/16)UMOI(J/K)6-O ZP3-(10/13/16)

umo

ZP3-T(10113/16)BOI(J/K)6-O ZP3-(10/13/16)

BO

ZP3B-T2B(JIK)6-B5

ZP3-T(10/13/16)UMO(J/K)10-O> ZP3-(10/13/16)

JUMO

ZP3-T(10/13/16)BOI(J/K)10-O

ZP3B-T2B(J/K)10-B5

ZP3-T(10/13/16)UMOI(JB/K)15-C

ZP3-(10/13/16)UMC]

ZP3-T(10/13/16)BCI(JB/K)15-O

ZP3-(10113/16)BC1

ZP3B-T2B(JB/K)15-85

ZP3-T(10/13/16)UMOI(JB/K)20-O

(

(

i
ZP3-(10/13/16)B0]

(

(

(

ZP3-(10/13/16)UMC]

ZP3-T(10/13/16)BCI(JB/K)20-O

ZP3-(10/13/16)BC1

ZP3B-T2B(JB/K)20-B5

Note 1) O in the table indicates the pad material.
Note 2) <> in the table indicates the vacuum inlet.
Note 3) Fitting is ordered separately.

Suffix of how to order ({) U2: M-5AU-2,U4: M-5AU-4-X83
U6: M-5AU-6-X83,02: KJH02-M5
04: KJH04-M5, 06: KJH06-M5




With Buffer: Vacuum Inlet Series ZP3

LA 21.5 to 23.5
Pad type

Dimensions/With Buffer: Vacuum Inlet Vertical

ZP3-T015UCIJN-B3

25

ZP3-T015UCKE-B3

ZP3-T02UCIJE-B3

stroke  IEACTNID

ZP3-T02ULIKHE-B3

Note) (Il in the table indicates the
pad material "N, S, U, F, GN,
GS."

ZP3-T035UC1UN-B3

25

r
M3x0.5

Note) Cin the table indicates the
F, GN,

pad material "N, S, U, F, GN
GS."

ZP3-T035UCKE-B3

o7
M3 x0.5

Width across T
flat 4

Width across M

flat 8
\ —

o L

2

s

m| O

Width across “"I
flat 6

Width across
flat 10

o)

L
O
NC‘

- U—T“
A

Note) Clin the table indicates the
F, GN,

pad material "N, S, U, F, GN
GS."

—2 o7 ,."7_5, 07
M3 x 0.5 ,\‘,|3x0.5 M3x0.5 l\‘/|3x0.5
Width across — Width across —
flatd Width across ® flata Width across ©
flat 6 flat 6
Width across | W/ T} Width across N Width across | W/ (T} i N
flat 8 lat 10 o flat 8 X\gtd:%across £
i =r ] =r
o \ ] o \ ]
ool L JOT o L SO
N m| 0 o m 0
‘Iew .
‘ L ‘ L
M6 x0.75 b r M6 x0.75 b r
M8 x0.75
< M8 x0.75 —JF < M —J
mI Y < [ mI %g ! < [
A J | /&
00.8 3 i 00.8 S C
15 Width across 1) o Width across )
o1 flat 5.5 00.8 = 2z, | flat 5.5 00.8 =
192 015 925 02
o<, |
|92 | 22.5
Dimensions (per stroke) Dimensions (per stroke) Dimensions (per stroke) Dimensions (per stroke)
Model ATB [D V() Model A [B | D |Veig(g) Model ATB [D Vet Model [ATB D Wet
ZP3-T015UC1J3-B3 | 7[24[10] 3.4 ZP3-TO15UCIK3-B3 | 8[2%5(11 | 6.8 ZP3-T02UCW3-B3 | 7[24]10] 3.4 ZP3-T02UCIK3-B3 | 8|2%3[11 [ 6.8
ZP3-T015UC1J6-B3 [10[31[14] 4.4 ZP3-T015UCIK6-B3 [11[33 [145] 8.2 ZP3-T02UCW6-B3 [10[31[14] 4.4 ZP3-T02UCIK6-B3 [ 113 [145] 8.2

Note) (I in the table indicates the
pad material "N, S, U, F, GN,
GS."

Vacuum Inlet Dimensions

ZP3-T015UC1rM-U2
ZP3-T02ULI7rW-U2
ZP3-T035UC]<l-U2

ZP3-T015UC7<M-02
ZP3-T02U7<M-02
ZP3-T035UJ7<l-02

20.9

(6.5)

Width across flat 4.5

Width across flat 5.5

P2y

(10)

1]

/

[

KJHO02-M3 [Weight: 1.1 g]2

ZP3-T015U1%<M-04
ZP3-T02ULT5<M-04
ZP3-T035UC17<M-04

Note) Cin the table indicates the
pad material "N, S, U, F, GN,
GS."

Note) O in the table indicates t

he
pad material "N, S, U, F, GN,
GS."

MEx075 7 M-3AU-2 [Weight: 0.7 g]2
< M8 x0.75
[ ZP3-T015UCrM-U4
"’] 4 < 71 ZP3-TO2ULTYM-U4
m[ E ZP3-T035UL1/<M-U4
208 2[ I 01.2
Width across .
35 | flat 5.5 00.8 3
o4 2.5 B
04 = e
N H
Dimensions (per stroke) Dimensions (per stroke) 7 % ‘ ‘ %
Model A B D [V Model [ATB[D [Wegily ; Ay
ZP3-T035UC1J3-B3 | 724[10] 3.4 ZP3-T035UCIK3-B3 | 8265[11 | 6.8 [ |
ZP3-T035UC1J6-B3 [1031]14] 4.4 ZP3-T035UCIK6-B3 [11]% [145] 8.2

Width across flat 5

M-3AU-4-X83 [Weight: 0.7 g]2

(13.7)

-

7

KJH04-M3-X83 [Weight: 1.9 g]2

Width
lacross flat 8|

=1 Refer to "ZP3-TAAAUCY<M-B3" for dimensions.
+2 When calculating the weight, add the weight of the fitting to "ZP3-TAAAUCY<E-B3".

1137

>~ |NNN|NITN
=Rk
SNEE =



Series ZP3

Dimensions/With Buffer: Vacuum Inlet WAL

Pad diameter
LR Flat with groove

ZP3-T04UMCJJHE-B5

o7
M5 x 0.8
—
| Width across flat 6 <f1
Width across
flat 10
al® 5 ]
m| |~ [
I M8 x 0.75
| —
Width across
flat7
<
© —

2
S
'

0.5

24.5

Dimensions (per stroke)

ZP3-TOAUMC'KHN-B5

ZP3-TO6UMCIJHNE-B5 ZP3-TO6UMCKHN-B5

o7
M5 x 0.8
—
Width across flat 6 Vl
Width across 7
flat 10 I
\ |
al 5
m| |~ C I
T L M8 x 0.75
i —
Width across T
flat 7
<
© —
1.8 ©
26 | ©
06.5

Dimensions (per stroke)

Weight (g) Weight (g)
Model A B D | Rotating [Non-rotating Model A B D | Rotating [Non-rotating
() (K) () (K)
2ZP3-T04UM17<3-B5 11 _|305 |11 7.4 7.3 ZP3-TOBUMC73-B5 11 1305 |11 7.4 7.3
ZP3-T04UM13<6-B5 14 |37 14.5 8.6 8.6 ZP3-T06UMC17<6-B5 14 |37 14.5 8.6 8.6
ZP3-T04UM15<10-B5 18 |47 20.5 10.5 10.5 ZP3-TO6UMCI7<10-B5 18 |47 20.5 10.5 10.5

Note 1) O in the table indicates the pad material "N, S, U, F, GN, GS."
Note 2) The symbol "¥¢* indicates buffer type "J" or "K".

ZP3-TOSUMCIJHNE-B5

o7
M5 x0.8
Width across flat 6 [ ] <r1
Width across
flat 10 7'[
\ 1
ol s
o |« [
LUl m8x075
Width across =
flat 7.
<
© H
01.8 @
28 ©
22 |
08.5

Dimensions (per stroke)

ZP3-TOSUMCKHE-B5

Note 1) CJin the table indicates the pad material "N, S, U, F, GN, GS."
Note 2) The symbol "¥<" indicates buffer type "J" or "K".

Vacuum Inlet Dimensions

Barb fitting One-touch fitting

ZP3-T04UMJ7<HME-U2
ZP3-TO6UM 15 HE-U2
ZP3-TO8UM 15 HIE-U2

ZP3-TO4UM>x HN-02
ZP3-TO6UM <M
ZP3-TO8UM 17 Hl-02

20.9

6.5)

Width across ‘
flat 7

M-5AU-2 [Weight: 1.5 g]*2

Width across
flat 7.

(8.7)

KJH02-M5 [Weight: 1.9 g]*2

ZP3-TO4UMC7<HE-U4
ZP3-TO6UMC7xHE-U4
ZP3-TO8UMLI>x Ml-U4

ZP3-TO4UMx|
ZP3-TO6UMI
ZP3-TOSUML < MM-04

Weight (g)
Model A B D | Rotating [Non-rotating
) (K)
ZP3-TO8UMCI7¢3-B5 11 [305 |11 7.4 7.3
ZP3-TO8UMC17:6-B5 14 [37 [145 8.6 8.6
ZP3-T08UMCI¥¢10-B5 18 [47 [205 | 105 10.5

Note 1) O in the table indicates the pad material "N, S, U, F, GN, GS."
Note 2) The symbol "¥<" indicates buffer type "J" or "K".

1138

©.5)

M-5AU-4-X83 [Weight: 1.6 g]*2

- —

Width across
flat 8

(13.9)

KJHO4-M5 [Weight: 2.4 g]2

=1 Refer to "ZP3-TA AUMCI<HMM-B5" for dimensions.
+2 When calculating the weight, add the weight of the fitting to "ZP3-TAAUMOy<HE-B5".



With Buffer: Vacuum Inlet Series ZP3

Pad diameter
LU 3 Flat with groove

ZP3-T0O6UMOKNNE-B5

Dimensions/With Buffer: Vacuum Inlet Vertical
ZP3-T04UMCJJBENE-B5

ZP3-T04UMCKHE-B5 ZP3-T06UMOJBEE-B5

o7
a7 M5 x 0.8
M5 x 0.8 | —
™ 1 Width across
Width across < flat6 ~
flat 6 Width across T T
Width across L - flat 10 Bushin,
flat 10 I Bushing JX \\ Ig ~uSing ii
i 1T
» E=aa o :
° 2 X 3 3 o T
Ji H: Bushing Jﬁ Ef Bushing —
M8 x 0.75 M8 x 0.75
1] o
< \Width across < width across
flat 7 flat 7
E‘ |
& o P 3[ B
! ! = “’l %
o12| || w o
] . : - @) " .
24 | Dimensions (per stroke) 26 | © Dimensions (per stroke)
04.5 Weight (g) — Weight (g)
> Model A B |Rotating tating 6.5 Model A B |Rotating Non-rotating
() (K) ) (K)
2ZP3-T04UMCI5715-B5 [36.5 |55 10.3 12.3 ZP3-T0BUMI7<15-B5 [36.5 |55 10.3 12.3
ZP3-TO4UML¥20-B5 (44 [62.5 | 10.9 | 13.4 ZP3-TOBUMI%20-B5[44 (625 | 10.9 | 13.4

Note 1) Clin the table indicates the pad material "N, Note 1) Clin the table indicates the pad material "N,
S, GN, GS." S,U,F,GN,GS."
Note 2) The symbol "7 indicates buffer type “JB" or "K".

ZP3-T08UMCJJBEE-B5 ZP3-T0SUMCIKHM-B5

o7
i

]

Note 2) The symbol "7 indicates buffer type “JB" or "K".

Vacuum Inlet Dimensions

M5x0.8

Width across
flat 6

ZP3-TOAUMCIY<HE-U2 ZP3-TOAUMCY<HN-02

Width across T ,
flat 10 [l | Bushing j ZP3-TO6UMLT><HM-U2 ZP3-TOBUML>M
Bl g ZP3-TO8UMI>vHE-U2 ZP3-TO8UM>rHl-02
2 5 B
® 209 Width across
J— B Bushing — ‘ flat 7.
— N
M8 x 0.75 3 QE @
Width
o ! aln across /| ‘ ‘ ‘
M-5AU-2 [Weight: 1.5 g]*2 KJH02-M5 [Weight: 1.9 g]*2
<\Width across ZP3-TO4UMv<HE-U4 ZP3-TO4UM>Hl-04
flat 7 ZP3-TO6UMIv<HE-U4 ZP3-TO6UMI>< M
| ZP3-TO8UMYrHE-U4 ZP3-TO8UMI>rHl-04
o ﬁ £ C 01.8 —
*
co[ 1 S — X S| ‘ Width across
— —] | Width across © flat 8
01.8 . . - flat 7 |
— Dimensions (per stroke) = /‘/
28 Weight (@) ‘ ‘
08.5 Model A | B [Rotati faing ‘ ‘ ‘
W) K)
2ZP3-TO8UMLI>715-B5 [36.5 |55 10.3 | 12.3
ZP3-TO8UMLI5%<20-B5 [44  [62.5 | 10.9 | 13.4 M-5AU-4-X83 [Weight: 1.6 g]*2 KJH04-M5 [Weight: 2.4 g]*2

Note 1) O in the table indicates the pad material "N,
S, GN, GS."

=1 Refer to "ZP3-TA AUMC < HMM-B5" for dimensions.
Note 2) The symbol "J¢" indicates buffer type "JB" or "K". 2 When calculating the weight, add the weight of the fitting to 'ZP3-TAAUMOYYHE-B5".

1139

>~ |NNN|NITN
= ||uo



Series ZP3

LR 3 Flat with groove

Dimensions/With Buffer: Vacuum Inlet WAL

ZP3-T10UMCIJHE-B5 ZP3-T10UMCKHMN-B5 ZP3-T13UMCIJHNE-B5 ZP3-T13UMCKHE-B5

a7 o7
M5 x 0.8 M5 x 0.8

[
Width across
"I flat 6 1ﬁ

Width across ‘H
flat 6
\Width across flat 10 I

Width across flat 10 T
—
o
o

!
5 ul®

=]
1

§

M8 x 0.75 M8 x 0.75

Wiminsim

= =
L
< < [
~ | ~ il
] 1 — .. |
x\:ﬁ%acmss 1.8 - Widh across 1t 10/ | o1 .8 o
010 213
011 Dimensions (per stroke 014 Dimensions (per stroke
Weight (g) Weight (g)

Model A| B | D |Rotating|loniing Model Al B|DF
W) | (k) @@ W | ()
ZP3-T10UMC1¥3-B5 [12[31.5 |11 84| 83 ZP3-T13UMCI%3-B5 [12(31.5 [11 85| 84
ZP3-T10UMC1Y6-B5 [15(38 [145| 96| 9.6 %& ZP3-T13UMCIY<6-B5 [15[38 [145] 97| 9.7
ZP3-T10UMCIY10-B5 [ 1948 205 | 11.7 | 11.7 ZP3-T13UMCIY10-B5 [19[48 [20.5 [ 11.8 | 11.8

Note 1) O in the table indicates the pad material Note 1) (I in the table indicates the pad material
"N, S, U, F,GN, GS." "N, , GS."

Note 2) The symbol "¥¢" indicates buffer type "J" or "K". Note 2) The symbol "¥" indicates buffer type "J" or "K".

Vacuum Inlet Dimensions

ZPOTIGUNCURNLES  ZPO-TIGUMCKHNL2S

7
M5 x 0.8 2 ZP3-T10UM 7y HE-U2 ZP3-T10UM7<HE-02
I ZP3-T13UMxHE-U2 ZP3-T13UMI7<HE-02
Width across flat 6 <H vt ZP3-T16UMI>xHE-U2 ZP3-T16UMJ7rHl-02
Width across - ]
flat 10 20.9 Width across
A flat 7
| @ 8 i ﬂ
ol O Q| 2
ol | 1 3 Width across
1 4] wexo7s flat 7
Width across | . X
flat 10 M-5AU-2 [Weight: 1.5 g]*2 KJH02-M5 [Weight: 1.9 g]*2
< ZP3-T10UMCxHE-U4 ZP3-T10UMC>xHm-04
~ u ZP3-T13UMC X HE-U4 ZP3-T13UM 5 HE-04
H ZP3-T16UMI7xHE-U4 ZP3-T16UM > HE-04
21.8 o
016 T 01.8
217 ] Width across 3 Width across
o flat 7 < flat 8
< i ksl
I

>

M-5AU-4-X83 [Weight: 1.6 g]*2

KJH04-M5 [Weight: 2.4 g]2

ZP3-T10UM><HE-U6
ZP3-T13UM5<HE-U6
ZP3-T16UM 17 HE-U6

ZP3-T10UMCI7<HM-06
ZP3-T13UMC<HN-06
ZP3-T16UM 7 HE-06

Dimensions (per stroke)

Weight (g) 02,5
Model A| B | DF g [Norotzing et I width
[©) (K) ] i . — idth across
ZP3-T16UMCI/3-B5 | 12315 [11_| 86| 8.5 ) {[1[ idth across 3 flat 10
ZP3-T16UMCY<6-B5 |15(38 [145| 9.8 | 9.8 ks - b ~
ZP3-T16UMI/10-85 [ 19148 [20.5 | 11.9] 11.9 LI
Note 1) OJin the table indicates the pad material U n
"N, S, U, F,GN, GS."
Note 2) The symbol "¥¢" indicates buffer type "J" or "K". M-5AU-6-X83 [Weight: 1.8 g]2 KJHO6-M5 [Weight: 3.3 g]2

1 Refer to "ZP3-TA AUMC < MM-B5" for dimensions.
+2 When calculating the weight, add the weight of the fitting to '"ZP3-TAAUMOy<HE-B5".

1140



Dimensions/With Buffer: Vacuum Inlet Vertical

With Buffer: Vacuum Inlet Series ZP3
ELEENEEY 610 too16

ZP3-T10UMCJJBEE-B5

ZP3-T10UMCKHMN-B5

ZP3-T13UMCJJBEE-B5 ZP3-T13UMCKHE-B5

o7 o7
M5 x 0.8 | M5x0.8 ‘
Width across flat 6 :ﬂj (1 idth across flat 6 71j ]
Width across flat 10 ’I Bushing JX’ Width across flat 10 "[ Bushing JX*
¥ 1| _ ] 1| K . ]
° x % % Bushing 3 =) Q}E% i % Bushing 3
11 M8 x 0.75 T 11 M8 x 0.75 T
1] o
Width across Width across
flat 10 flat 10
~ ~
[ ! = —
018 A
210 Dimensions (per stroke) Dimensions (per stroke)
011 Weight (g) Weight (g)
Model A | B | Rotating [Non-rotating Model A | B | Rotating [Non-rotating
) K) W) (K)
ZP3-T10UMCIY<15-B5 [37.5 |56 13.1 15.1 ZP3-T13UMC1><15-B5 |37.5 |56 132 | 16.2
ZP3-T10UMCI<20-B5 [45 [63.5 | 16.2 | 16.2 ZP3-T13UMC7%20-B5 [45 [63.5 | 16.3 | 16.3

ZP3-T16UMOJJBEE-B5

Note 1) Oin the table indicates the pad material "N,
S,U,F,GN, GS."

Note 2) The symbol "¥" indicates buffer type "JB" or "K".

Note 1) CJin the table indicates the pad material "N,
S,U,F,GN,GS."
Note 2) The symbol "¥¢" indicates buffer type "JB" or "K".
Vacuum Inlet Dimensions

ZP3-T16UMCKHE-B5

M x 0.8 27 ZP3-T10UM7<HME-U2 ZP3-T10UMCIxMM-02
—— . -U2 ZP3-T13UM5XHM-02
Width across flat 6 1 <r¢ ZP3-T16UMC 1< HM-U2 ZP3-T16UMC15<HE-02
Width across flat 10 ’I Bushing JX’ 209 md ;h across
o xv 8 ? E % Bushing % 3 g % E
‘ i B M8 x 0.75 ml x\z’iitd;h across, ‘ ‘ ‘ ‘
M-5AU-2 [Weight: 1.5 g]*2 KJH02-M5 [Weight: 1.9 g]*2
a ZP3-T10UMCIYcHNE-U4 ZP3-T10UMI7<HM-04
Width across ZP3-T16UMCIyxHM-U4 ZP3-T16UMC5xHE-04
flat 10
21.8
L i 5|
o — P % Width across ©
~ ) flat 7 =
1.8 o~ ‘ T ) T
& | Width across/ | |
216 flat 8
017 M-5AU-4-X83 [Weight: 1.6 g]2 KJH04-M5 [Weight: 2.4 g]*2
ZP3-T10UM7cHM-U6 ZP3-T10UMI7<HM-06
ZP3-T13UMCIY<HNE-U6 ZP3-T13UMI7<HM-06
ZP3-T16UMCI5xHME-U6 ZP3-T16UMLCI5<HM-06
02.5
= ) N
Dimensions (per stroke) g md;h across s
Weight (g) | i a 7
Model A | B [ Rotating [Non-otating ‘/ ‘ /
W | : :
ZP3-TIGUNLI<15-85 |37.5 |56 | 13.3 | 15.3 width across/ | |
2R3 UM< 20755 A5 el KT EP A T M-5AU-6-X83 [Weight: 1.8 g2 KJH06-M5 [Weight: 3.3 g2

Note 1) (I in the table indicates the pad material "N,
S,U,F,GN,GS."

Note 2) The symbol *

indicates buffer type "JB" or "K".

=1 Refer to "ZP3-TA AUMCIY<HM-B5" for dimensions.

+2 When calculating the weight, add the weight of the fitting to "ZP3-TAAUMO Y HI-B5".

1141

CC R R Flat with groove

P2y

>~ |NNN|NITN
=Rk
SNEE =



Series ZP3

Pad diameter
Pad type

ZP3-T06BLIKHN-B5

Dimensions/With Buffer: Vacuum Inlet NAGLLZEL
ZP3-T04BJHM-B5

ZP3-T04BLJKHMN-B5 ZP3-T06BlJHN-B5

o7 o7
M5 x 0.8 M5 x 0.8
Width across Width across
flat 6 -« flat 6 <
Width across _ Width across 7
fiat 10 I fit 10 I
\ { \ {1
o eI 3 Ao 3
© o[ T o NG
H =1 [ M8x0.75 H E M8 x 0.75
1 =11
[Width across flat 7 7‘1 md ;h across 7‘1
< <
© — © S| S|
= F=Q) - =
21.8 o 01.8
o 23.4
24 -
— 26
04.5 o7
Dimensions (per stroke) Dimensions (per stroke)
Weight (g) Weight (g)
Model A | B | D Roiing@) MNonotaing (K] Aot A | B | D [Rolting) [Nonrofating (<
ZP3-T04B[J7<3-B5 13 [325 |11 74 7.3 ZP3-T06B7<3-B5 13 325 |11 7.4 7.3
ZP3-T04BL1%<6-B5 16 [39 [145 8.6 8.6 ZP3-T06BL176-B5 16 [39 [145 8.6 8.6
ZP3-T04B%10-B5 | 20 [49 [205 10.5 10.5 ZP3-TO6BLI<10-B5 | 20 [49 [205 10.5 10.5

Note 1) O in the table indicates the pad material "N, S, U, F, GN, GS."
Note 2) The symbol "¥¢" indicates buffer type "J" or "K".

Note 1) [Jin the table indicates the pad material "N, S, U, F, GN, GS."
Note 2) The symbol "Y<" indicates buffer type "J" or "K".

ZP3-T08BlJHE-B5 ZP3-T08BLKMM-B5 Vacuum Inlet Dimensions

o7
M5 x 0.8 ZP3-T04ABxHM-U2 ZP3-T04BI7<MM-02
ZP3-T06B < HM-U2 ZP3-T06B7x MM-02
Width across flat 6 *I ZP3-T08B 17 HE-U2 ZP3-T08BLI7xHM-02
Width across flat 10 7—[ 0.9
4 20. ’\=.::.=1‘ Width across

flat 7

& )

- JEH|IB ]

M8 x 0.75

M

; |

L
S— 1
dth across flat 7 ‘ﬂ

Width across
flat 7 ‘ ‘

KJH02-M5 [Weight: 1.9 g]*2

=

M-5AU-2 [Weight: 1.5 g]*2

i

ZP3-T04BIY<HE-U4
ZP3-T06BLIYrHE-U4

ZP3-T04B[]7<HE-04
ZP3-T06BL]>rHE-04

¢ mt ZP3-T08B[ 1Y HE-U4 ZP3-T08BLxHE-04
01.8
©5.2 1.8
28
9 |
Width across o Width across
flat 7 @ flat 8
Dimensions (per stroke) /|
Weight (g) T
Model A B D Rotating (J) [Non-rotating (K) ‘ T T
ZP3-T08B(J73-B5 13 [3825 |11 7.5 74 ‘ ‘
ZP3-T08B(76-B5 16 [39 [145 8.7 87
ZP3-T08B110-B5 20 |49 20.5 10.6 10.6

M-5AU-4-X83 [Weight: 1.6 g]*2 KJH04-M5 [Weight: 2.4 g]*2
#1 Refer to "ZP3-TAABCIY<HE-B5" for dimensions.
2 When calculating the weight, add the weight of the fitting to "ZP3-TAABC < MIl-B5".

Note 1) [ in the table indicates the pad material "N, S, U, F, GN, GS."
Note 2) The symbol "¥¢" indicates buffer type "J" or "K".

1142



With Buffer: Vacuum Inlet Series ZP3

Pad diameter
Pad type
SRl 15, 20 mm)

ZP3-T06BLIKHMN-B5

Dimensions/With Buffer: Vacuum Inlet Vertical
ZP3-T04BJKHN-B5

ZP3-T06BJBHENE-B5

o7

ZP3-T04BJJBEE-B5

o7

M5 x 0.8 M5 x 0.8
Width across 7 Width across 7 ]
) <
flat 6 [ flat 6 |
I Width across flat 10 7‘[ _Bushing M Width across flat 10 7‘[ Bushing £7
o IR R o —o|IB R
=l 2l
J— H: Bushing Ji } Bushing
M8 x 0.75 M8 x 0.75

Width across
flat 7

Width across
flat 7

TT
T
—
!
TT
T

=

14
8
© —
g
|
14

¥ S ® —
j — — 1 mt —1
o1 . . 01.8 . .
a 2[ Dimensions (per stroke) 534 Dimensions (per stroke)
Weight (g) 7'—6» Weight (g)
1243 Model A B | Rotating [Non-rotating 26 | Model A B |Rotating |Non-rotating
) (K) o7 W) (K)
ZP3-T04BL5715-B5 [38.5 |57 103 | 12.3 ZP3-T06BJ7<15-B5 [38.5 |57 103 | 12.3
ZP3-T04BL15¥20-B5 [46  [64.5 | 109 [ 13.4 ZP3-T06B1%<20-B5 [46 [64.5 | 10.9 | 134

Note 1) CJin the table indicates the pad material "N, Note 1) O in the table indicates the pad material "N,
S,U,F,GN, GS." S."

Note 2) The symbol "¥¢" indicates buffer type "JB" or "K". Note 2) The symbol *¥" indicates buffer type "JB" or "K".

ZP3-T08BJJBENE-B5 ZP3-T08BLKHM-B5
Vacuum Inlet Dimensions

Note 1) CJin the table indicates the pad material "N,
S,U,F,GN,GS."

Note 2) The symbol "¥¢" indicates buffer type "JB" or "K".

o7
M5 x 0.8
Widh T 1
([ across
flat 6 711I ZP3-T04B15<HE-U2 ZP3-T04B15<HE-02
oo 10 (T Bushing jf ZP3-T06BL 1Y HE-U2 ZP3-T06BI MM-02
= H; = ZP3-T08BL < HE-U2 ZP3-T08B < HE-02
o &y 0.9
T C Ji EES % 3 —Tﬂ i:.::.:l‘ }’\Va‘td;h across
Bushing IS
] : /1
M8 x 0.75 @ <
Width across ‘ ‘ ‘ ‘
) flat 7
M-5AU-2 [Weight: 1.5 g]*2 KJH02-M5 [Weight: 1.9 g]*2
Width across ZP3-T04B[15<HE-U4 ZP3-T04BHE-04
ft 7 ZP3-T06BLI/<MM-U4 ZP3-T06BLIY<MM-04
I ZP3-T08BLI5xHE-U4 ZP3-T08BL < HE-04
L 01.8
° — — o %Eif ) ‘ Width across|
— -} — 3| © flat 8
01.8 Dimensions (per stroke) ‘ ‘ ‘ . ‘
05.2 Weight (g) T A\
08 Model A | B | Rotating Non-rotating ‘ ‘
prane W | ® \ \
29 ZP3-T08BL <1585 385 |57 | 10.4 | 12.4 Width across flat 7
ZP3-T08BL1»<20-B5 {46 64.5 | 11.0 135 M-5AU-4-X83 [Weight: 1.6 g]*2 KJH04-M5 [Weight: 2.4 g]*2

=1 Refer to "ZP3-TA ABCY<HM-B5" for dimensions.
+2 When calculating the weight, add the weight of the fitting to "ZP3-TAABLI<HE-B5".

1143

P2y

>~ |NNN|NITN
= ||uo



Series ZP3

Dimensions/With Buffer: Vacuum Inlet NAGLLZEL

ZP3-T10BCJHNE-B5

ZP3-T10BLJKHMN-B5

ZP3-T13BJJHNE-B5

ELEELEEY 510 to 016
Pad type

ZP3-T13BL_KHMN-B5

o7 o7
M5 x 0.8 | M5x0.8 |
Width across flat 6 1 vt Width across flat 6 :1
With across fat & | |~y Widih across flat 6
Width across flat 10 ’I Width across flat 10 ’
al © G al © G
~ Cr o [
o T L M8 x 0.75 o T LU M8 x 0.75
yu! 1
Width across flat 10| 1 Width across flat 10 | ]
< <
2 —] 1 =) 5
P — — <] —
01.8 ¥ 01.8 t
22, 22,
26 : . 28.4 . .
e Dimensions (per stroke) o Dimensions (per stroke)
210 - 213 -
—_— Weight (g) _— Weight (g)
o1l Model A| B | D [|Rotatinganoaing o014 Model A| B | D |Rotating]Nor-oting
W) | (K O | K
ZP3-T10B%3-B5 |15(34.5 |11 86 | 85 ZP3-T13B[<3-B5 | 15(34.5 |11 87 | 86
ZP3-T10B[1%¥6-B5 |18 [41 145 | 9.7 | 97 ZP3-T13B[1<6-B5 |18 |41 145 | 98 | 98
ZP3-T10B1¥¢10-B5| 22 [51 20.5 [11.7 |11.7 ZP3-T13B<10-B5| 22 |51 20.5 [11.8 [11.8

®

ZP3-T16BLJJHNE-B5

Note 1) Oin the table indicates the pad material "N,
S,U,F,GN, GS."

Note 2) The symbol *¥" indicates buffer type "J" or "K".

ZP3-T16BLULKHN-B5

Note 1) [l in the table indicates the pad material "N,
S,U,F,GN, GS."

Note 2) The symbol "7¢" indicates buffer type "J" or "K".

Vacuum Inlet Dimensions

Barb fitting One-touch fitting

o7
MH‘ ZP3-T10B15xHE-U2 ZP3-T10B5xHE-02
Widh P ZP3-T13B5YHE-U2 ZP3-T13B5xHE-02
Width across it §| i ZP3-T16BLI MN-U2 ZP3-T16BLI/<MN-02
Width across flat 10 n
— 20.9 Width across
\ — ] flat 7
&) S
==l A {0
o H L M8 x 0.75 Width across /]
1 flat 7
Width across flat 10
M-5AU-2 [Weight: 1.5 g]*2 KJH02-M5 [Weight: 1.9 g]*2
<. J ZP3-T10BI>YHE-U4 ZP3-T10BLI7rHE-04
- i \/ | ZP3-T13BLxHE-U4
— | — ZP3-T16B 1Yy HE-U4 ZP3-T16B 1Y HE-04
018 t
o114 018
16 ] Width across &l Width across
o g /‘/flat 7 9 flat 8
1N 7]
G M-5AU-4-X83 [Weight: 1.6 612 | |  KJHO04-MS5 [Weight: 2.4 g]2
9 ZP3-T10BJ7vHE-U6 ZP3-T10B15YHE-06
ZP3-T13B15xHE-U6 ZP3-T13B% 06
ZP3-T16B15xHE-U6 ZP3-T16BxHE-06
Dimensions (per stroke) 025
Model Waight (0) I S| Width across
Rotat o ] o . > I
odel Al B D 0 g S g g T }‘I:‘d;h across E flat 10
ZP3-T16B17<3-B5 |15(34.5 [11 | 8.8 | 8.7 = (T
ZP3-T16BL1<6-B5 [18[41 [14.5 | 9.9 | 9.9
ZP3-T16B1%10-B5/22 |51 [205 [11.9 [11.9 f "

Note 1) CJin the table indicates the pad material "N,
S,U,F,GN,GS."

Note 2) The symbol "¥¢" indicates buffer type "J" or "K".

1144

M-5AU-6-X83 [Weight: 1.8 g]*2

KJH06-M5 [Weight: 3.3 g]*2

1 Refer to "ZP3-TA ABOY<HM-B5" for dimensions.
+2 When calculating the weight, add the weight of the fitting to "ZP3-TAABLYHE-B5".



With Buffer: Vacuum Inlet Series ZP3

L ENEEE 210 to 016
Pad type
Dimensions/With Buffer: Vacuum Inlet Vertical

ZP3-T10BJJBEE-B5 ZP3-T10BLJKHMN-B5 ZP3-T13BJBHNE-B5 ZP3-T13BL_KHMN-B5
M5 x 0.8 o M5 x 0.8 =2
~ — —— —
Width across flat 6 j Width across flat 6 j
Width across flat 10 i Bushing JX’ Width across flat 10 I Bushing JX’
| E: Bushing _| E: Bushing
M8 x 0.75 M8 x 0.75

Width across
flat 10

A

Width across
flat 10

T
[T

B
e —

B
e —

T

A==
T

16
0
=
[T
16
0]

1 T y
[ — o —
01.8 i 1.8 '
- . —_ . .
06 Dimensions (per stroke) 8.4 Dimensions (per stroke)
210 Weight (g) 213 Weight (g)
2= . 22
o1 Model A | B |Rotating [Non-otating 014 Model A | B |Rotating [Non-rotating
) (K) () (K)
ZP3-T10BL1v¥15-B5 |40.5 |59 13.3 15.3 ZP3-T13B7<15-B5 [40.5 |59 13.5 15.5
ZP3-T10BJ%20-B5 [48 |66.5 | 16.4 16.4 ZP3-T13B17<20-B5 [48 [66.5 | 16.6 16.6
Note 1) CJin the table indicates the pad material "N, Note 1) CJin the table indicates the pad material "N,
S,U,F,GN,GS." S,U,F,GN, GS."
Note 2) The symbol "¥" indicates buffer type "JB" or "K". Note 2) The symbol "¥¢" indicates buffer type "JB" or "K".

ZP3-T16BCJJBEN-B5 ZP3-T16BKHE-B5 Vacuum Inlet Dimensions

o7
M5 x 0.8
. ! — ZP3-T10B < HE-U2 ZP3-T10B15xHN-02
Widh across flat & 1ﬁ ZP3-T13B<HN-U2 ZP3-T13BCHN-02
tignagosstat10 Y| Bushing | ] ZP3-T16BY HE-U2 ZP3-T16BCIY<MM-02
| b [ 20.9
2 x E — 3 3 &l N Width across flat 7
|| B_Bushing | g g
Width
M8 x 0.75 flaIt Y across
™ M-5AU-2 [Weight: 1.5 g]*2 KJH02-M5 [Weight: 1.9 g]*2
ZP3-T10B < HE-U4 ZP3-T10BxHE-04
i across ZP3-T13BI3 ZP3-T13B>YHM-04
< ZP3-T16B<HE-U4 ZP3-T16BI7xHE-04
[I 4 I 01.8 Fﬁ
© o f 1 g 7§; X\a"itd;h across g Width across flat 8
T niitgy (LI
o —
01.8 '
011.4 M-5AU-4-X83 [Weight: 1.6 g]2 KJHO04-M5 [Weight: 2.4 g]*2
016 ZP3-T10BJy¢HE-U6 ZP3-T10BI< M
017 ZP3-T13B%| U6 ZP3-T13B%H
ZP3-T16B15xHE-U6 ZP3-T16B7<HME-06
02.5
Dimensions (per stroke) = ) |
(0 Weigh @) g aE X‘z’\ltd;h across ; x\gld%across
Model A | B |Rotating [Non-rotating = — =
O | ® LI
ZP3-T16BL1%15-B5 405 [59 | 136 | 156 f h
ZPOTIGBLIN2085 [48 1665 | 167 | 167 |y gayy 6 %83 (weight: 1812 ||  KJHOB-MS5 Weight: 3.3 gI"?

Note 1) (J in the table indicates the pad material "N,
S,U,F,GN, GS." 1 Refer to "ZP3-TA ABCIY<HIM-B5" for dimensions.
Note 2) The symbol "¢" indicates buffer type "JB" or "K". 2 When calculating the weight, add the weight of the fitting to "ZP3-TA ABCIY<HM-BS".

1145

NNIN|TNTN



Series ZP3

i
How to Order
- »
Lateral vacuum inlet/
With adapter ZP3-Y 015 U|N|-B3-B3
S—
Vacuum inlet direction Vacuum inlet (&)
N 01.5 -2 010
Symbol|  Connection t003.5| to08 |too16
. Female | B M3x0.5 [ ] — —
Pad diametere thread B M5x0.8 —
Symbol |Pad diameter Barb U 22 tubing f1 [
015 1.5 fittin U4 04 tubing *2 []
02 22 9 06 tubing ™2 | — —
035 | 035 o 2 02 [] []
T R I ———
06 06 6 06 — —
|_08 08 #1 Polyurethane tube piping
0 210 #2 Soft nylon/Polyurethane tube piping
3 013
6 016 Mounting thread size
. 01.5 o4
[Symbol| Thread size| t003.5 | too16
Female | B3 [ M3x0.5 [ ] —
thread [ B5 [ M5x0.8 — [)
Pad material (O)
[Symbol Material
NBR
S Silicone rubber
U Urethane rubber
F FKM
GN Conductive NBR
GS |Conductive silicone rubber
Pad type—Pad diameter
Pad diameter]
Pad type Symbol) 015 | 02 | 035| 04 | 06 | 08 | 10 | 13 | 16
U (Flat) e & &  — | — | — | —|—]|—
UM Flatwithgroove) | — | — | — | @ | ® | ® ©® ©® | @
B (Bellows) — [ —1T—T e e/ e/ e e @
Specifications
——
Pad diameter: 01.5 to 03.5 Pad diameter: 510 to 616
[ Model I Pad unit part no. [Adapter part no| Model Pad unit part no. Adapter part no|
| ZP3-Y(015/02/035)UC1-B3-C__ | ZP3-(015/02/035)U0 | ZP3A-Y1-B3 | ZP3-Y (10/13/16)UMO-B5-O ZP3-(10/13/16)UMCI ZPAANE-BS
Note 1) O in the table indicates the pad material. ZP3-Y (10/13/16)BO-B5-O ZP3-(10/13/16)BO

Note 2)  in the table indicates the vacuum inlet.
Note 3) Fitting is ordered separately.
Suffix of how to order () U2: M-3AU-2, U4: M-3AU-4-X83
02: KJH02-M3, 04: KJH04-M3-X83

Pad diameter: 04 to 08

Note 1) O in the table indicates the pad material.
Note 2)  in the table indicates the vacuum inlet.
Note 3) Fitting is ordered separately.

Suffix of how to order () U2: M-5AU-2, U4: M-5AU-4-X83
U6: M-5AU-6-X83, 02: KJH02-M5
04: KJH04-M5, 06: KJH06-M5

Model Pad unit part no. Adapter part no.

ZP3-Y(04/06/08)UMCI-B5- ZP3-(04/06/08)UMCI
ZP3-Y(04 )BO-B5-O ZP3-(04/06/08)BCI

ZP3A-Y2-B5

Note 1) O in the table indicates the pad material.
Note 2) & in the table indicates the vacuum inlet.
Note 3) Fitting is ordered separately.
Suffix of how to order () U2: M-5AU-2, U4: M-5AU-4-X83
02: KJH02-M5,04: KJH04-M5

@ 1146




With Adapter: Vacuum Inlet Series ZP3

Pad diameter [o§ IR Y R
Dimensions/With Adapter: Vacuum Inlet Lateral

ZP3-Y015UC-B3-B3 ZP3-Y02U[-B3-B3 ZP3-Y035U-B3-B3
[Weight: 1.9 g] [Weight: 1.9 g] [Weight: 1.9 g]
25 | 25 | 25
M3x05 M3 x 0.5 M3x05
= g g = 2

14
14
14

| I @ ©
20.8 ° 20.8 IS 20.8 s
215 02 03,5
|92 925 04
o L) o L@ o W
\) \& &
5 5 5
Vacuum Inlet Dimensions
ZP3-Y015U0-B3-U2 ZP3-Y015U-B3-U4
ZP3-Y02U-B3-U2 ZP3-Y02U[I-B3-U4
ZP3-Y035U0-B3-U2 ZP3-Y035U0-B3-U4
Width across
flat 5
o
£ v
i i ©
2 y | = ] I N INNZJ)
2 > ]
@ l E = 1 ] : S,//
flat 4.5
9) (9.9)
M-3AU-2 [Weight: 0.7 g]*2 M-3AU-4-X83 [Weight: 0.7 g]*2
ZP3-Y015UC1-B3-02 ZP3-Y015UC-B3-04
ZP3-Y02U[-B3-02 ZP3-Y02U[-B3-04
ZP3-Y035U1-B3-02 ZP3-Y035U1-B3-04
Width across
Width across flat 8
= flat 5.5
= 7
S
5 IE=EIEN I M
: = AN T O
c
(12.4) (16.2)
KJH02-M3 [Weight: 1.1 g]*2 KJH04-M3-X83 [Weight: 1.9 g]*2

«1 Refer to "ZP3-Y AAAUO-B3-B3" for dimensions.
*2 When calculating the weight, add the weight of the fitting to "ZP3-Y AAAUO-B3-B3".

1147

> |NNINTTNITN
—||uu
- 0



Series ZP3

Dimensions/With Adapter: Vacuum Inlet LSl

ZP3-Y04UM[I-B5-B5

[Weight: 7.0 g]
| 28
M5 x 0.8
0| o
S
x
0
= =
" 1
— 4 -
J |
f
L,‘ 3
el18 |

1
o4 |
24.5

J
&

8

Vacuum Inlet Dimensions

ZP3-Y06UM[-B5-B5

[Weight: 7.0 g]
28
M5 x 0.8
0| o
S
x
0
= =
) |
N

.
©
0.8

Pad diameter
LR J 3 Flat with groove

ZP3-Y08UMCI-B5-B5
[Weight: 7.0 g]

08

M5 x 0.8

M5x 0.8

ZP3-Y04UMI-B5-U2
ZP3-YO6UMI-B5-U2
ZP3-Y08UMO-B5-U2

ZP3-Y04UMO-B5-U4
ZP3-Y06UMO-B5-U4
ZP3-Y08UMO-B5-U4

I

Barb fitting

N

20.9

(10.5)

Width across
Nlat 7

M-5AU-2 [Weight: 1.5 g]*2

]

7
e

N
& =

Width across
flat 7

8

IR

(12.5)

M-5AU-4-X83 [Weight: 1.6 g]*2

ZP3-Y04UMO-B5-02
ZP3-Y06UMOI-B5-02
ZP3-Y08UMOI-B5-02

ZP3-Y04UMO-B5-04
ZP3-Y06UMOI-B5-04
ZP3-Y08UMO-B5-04

Width across
flat 7

e
=

o
=
£
E
=

c

3
K]

@

c
o

(12.6)

KJHO02-M5 [Weight: 1.9 g]*2

™

/
N

T | O

Width across

flat 8
1N
L/

(17.8)

KJHO04-M5 [Weight: 2.4 g]*2

=1 Refer to "ZP3-Y AAUMO-B5-B5" for dimensions.
%2 When calculating the weight, add the weight of the

1148

fitting to "ZP3-Y AAUMO-B5-B5".




With Adapter: Vacuum Inlet Series ZP3

ELENEEE 210 to 016
Dimensions/With Adapter: Vacuum Inlet Lateral Rl Flat with groove

ZP3-Y10UM[CI-B5-B5 ZP3-Y13UM[I-B5-B5 ZP3-Y16UM[I-B5-B5
[Weight: 7.7 g] [Weight: 7.8 g] [Weight: 7.9 g]
o8 28 | o8
M5 x 0.8 M5 x 0.8 M5 x 0.8
Square 8 ] ; Square 8 1 S Square 8 I E
Jﬁ = = \\ = = \\ = =
e I I

']
ASH!
'l
HJT
=

E ! E
21.8 - 1.8 Y 01.8 o
222, 22, = 2.2, =
10 213 016
o011 214 017

(—0-
Vacuum Inlet Dimensions
ZP3-Y10UMO-B5-U2 ZP3-Y10UMO-B3-U4 ZP3-Y10UMO-B5-U6
ZP3-Y13UMO-B5-U2 ZP3-Y13UMO-B3-U4 ZP3-Y13UMO-B5-U6
ZP3-Y16UMO-B5-U2 ZP3-Y16UMO-B3-U4 ZP3-Y16UMO-B5-U6
Width across Width across
g flat 7 flat 7
= 4 K4
i ] SP S
= o
Width across | | ° ‘ ‘ ‘ | s

— Nflat 7 e e —— —— =
(10.5) (12.5) (14.5)

M-5AU-2 [Weight: 1.5 g]*2 M-5AU-4-X83 [Weight: 1.6 g]*2 M-5AU-6-X83 [Weight: 1.8 g]*2
ZP3-Y10UMO-B5-02 ZP3-Y10UMO-B3-04 ZP3-Y10UMO-B5-06
ZP3-Y13UMO-B5-02 ZP3-Y13UMO-B3-04 ZP3-Y13UMO-B5-06
ZP3-Y16UMO-B5-02 ZP3-Y16UMO-B3-04 ZP3-Y16UMO-B5-06

: " Width across
Width across Width
2 flat 7 s flat 10
s
£ N
o | NEF 0
| IS 1]
2 ) | ) )
(12.6) (17.8) (18.6)
KJHO02-M5 [Weight: 1.9 g]*2 KJHO04-M5 [Weight: 2.4 g]*2 KJH06-M5 [Weight: 3.3 g]*2

«1 Refer to "ZP3-Y AAUMO-B5-B5" for dimensions.
#2 When calculating the weight, add the weight of the fitting to "ZP3-Y AAUMO-B5-B5".

1149

> |NNINTTNITN
—||uu
- 0



Series ZP3

S c4too8 )
Dimensions/With Adapter: Vacuum Inlet Ll E=1 Pad type

ZP3-Y04B[1-B5-B5 ZP3-Y06B[1-B5-B5 ZP3-Y08B[1-B5-B5
[Weight: 7.0 g] [Weight: 7.0 g] [Weight: 7.1 g]
08 08 08
M5 x 0.8 M5 x 0.8 M5 x 0.8
¥ y 1
ol ] I @ Dl F 1 @ ol L @
¥ s ¥ e hES]
x x x
0 v ©
= = g = g =
S S S
Sie=p Si==p L=t
il @ @
© 7 © S 1] © —
= = o o}
o1 ‘8 o~ 018
04| o 03.4
04.5 26
o7
O Ly o @)
Y )
8 8
Vacuum Inlet Dimensions
ZP3-Y04BO-B5-U2 ZP3-Y04B-B5-U4
ZP3-Y06B-B5-U2 ZP3-Y06B-B5-U4
ZP3-Y08B[-B5-U2 ZP3-Y08B[-B5-U4

Width across

s flat 7
£ —
= L]
g = N\ o
e o & ﬂ I
3 |1 ? ! | 3t | @ .
o
Width across
NS fat7 ST~ NS S
(10.5) (12.5)
M-5AU-2 [Weight: 0.7 g]*2 M-5AU-4-X83 [Weight: 0.7 g]2
ZP3-Y04B[-B5-02 ZP3-Y04B-B5-04
ZP3-Y06B-B5-02 ZP3-Y06B-B5-04
ZP3-Y08B[-B5-02 ZP3-Y08B[1-B5-04
Width across
Width across
flat7 flat 8

D\
1

2

[

= 1

o
=
=
=
=
S
3
2
@
c
o

1]
J
W//\
/]
\\‘
i

(12.6) (17.8)

KJHO02-M5 [Weight: 1.1 g]2 KJHO04-M5 [Weight: 1.9 g]2

=1 Refer to "ZP3-Y AABO-B5-B5" for dimensions.
%2 When calculating the weight, add the weight of the fitting to "ZP3-Y AAB-B5-B5".

1150




With Adapter: Vacuum Inlet Series ZP3

Dimensions/With Adapter: Vacuum Inlet Lol g

ZP3-Y10B[J-B5-B5
[Weight: 7.9 g]

ZP3-Y13B[-B5-B5
[Weight: 8.1 g]

ELLENEEY 610 to 616
Pad type

ZP3-Y16B-B5-B5
[Weight: 8.2 g]

08 | 28 | 28
—22 . 1
M5 x0.8 * M5 x0.8 * M5 x 0.8
y o @ o @
S B ¥ BE f ol 3
x Square 8 © Square 8 ©
Square 8 =
quare \ - ) B L 2 =) -
© L © |-
8 |- a o A o ] A
] . /L: 5 L © ] ? ©
— 1 - o : 9 s
o ; i )
= — 5 — (N
01.8 ¥ 018 | t 01.8 | t
26 | 28.4 011.4
210 213 016
o1 014 017
Vacuum Inlet Dimensions
ZP3-Y10B-B5-U2 ZP3-Y10BO-B5-U4 ZP3-Y10BJ-B5-U6
ZP3-Y13B-B5-U2 ZP3-Y13B[-B5-U4 ZP3-Y13BO-B5-U6
ZP3-Y16BO-B5-U2 ZP3-Y16B[-B5-U4 ZP3-Y16B-B5-U6
Width across Width across m
flat 7 flat 7
2 ZP2
£ 4 1
£ = @9 = “HO D) PV
WASE aF =il
o Width across s e
e— =— e— —— |:ZPT
(10.5) (12.5) (14.5) ZPR
XT661

M-5AU-2 [Weight: 1.5 g]*2

M-5AU-4-X83 [Weight: 1.6 g]2

M-5AU-6-X83 [Weight: 1.8 g]2

ZP3-Y10B-B5-02
ZP3-Y13B-B5-02
ZP3-Y16B-B5-02

ZP3-Y10B-B5-04
ZP3-Y13B-B5-04
ZP3-Y16BO-B5-04

ZP3-Y10B[-B5-06
ZP3-Y13B[1-B5-06
ZP3-Y16B-B5-06

Width across
flat 7

Z
N

N

=

One-touch fitting

Width across

flat 8

[ i

Width across
flat 10
LA
N
N

ﬁj_H{

] \i:\

(12.6)

KJH02-M5 [Weight: 1.9 g]*2

(17.8)

KJHO04-M5 [Weight: 2.4 g]2

(18.6)

KJH06-M5 [Weight: 3.3 g]*2

=1 Refer to "ZP3-Y AABO-B5-B5" for dimensions.

#2 When calculating the weight, add the weight of the fitting to "ZP3-Y AABO-B5-B5".

1151



Series ZP3

How to Order

Lateral vacuum inlet/

e ZP3-Y 015 U[N]J 3 -B3

@ (m

Vacuum inlet directi
Vacuum inlet ()
§ 01.5
Pad diametere Sy[nbol Connection t0 03.5
Symbol [Pad diameter Female z M3 x 0.5 [
015 015 thread B M5 x 0.8 —
02 22 Barb U 02 tubing :1 []
035 935 fiting U o4 lub!ng }2 []
Y. o4 U 26 tubing *2 — — [ ]
02 @2 tubing [ ] [ ] [ ]
26 ¥
One-touch o4 T oatubing | @ | @ | @
08 fitting n
210 06 @6 tubing — — [ )
3 213 #1 Polyurethane tube piping
6 216 %2 Soft nylon/Polyurethane tube piping
Pad type—Pad diameter eStroke (l)—Buffer specifications
Pad diameter 01.5 t0 3.5 04 to 016
Pad type symbol)| 015 | 02 | 035 | 04 | 06 Stroke J K J
[ U (Flat) ® e o | — | — 3 [ ® —
[ UM (Flatwithgroove) | — | — | — | @ | @ ) ® —
B (Bellows) — ] —1—1e®e] e — — —
- — — — []
Pad d t
Pad ype———ymool| 08 | 10 | 13 | 16 = = = °
(G =1 = Buffer specifications ()
| UM (Flatwithgroove) | @ | @ | @ | @ 3 Rotating
Bell i
B (Bellows) CHEC) Pad material (D) JB Rotating, With bushing
Symbol| Material K Non-rotating
NBR
S Silicone rubber
U Urethane rubber
F FKM
GN Conductive NBR
GS | Conductive silicone rubber
Specifications
—————————
" Buffer Stroke Tightening torque| . Spring reactive force
Pad diameter ;o (mm) (N-m) | Mounting ™45 stroke (N) At full stroke (N)
J 15t01.8 | M6 x0.75 0.4
01510035 3.6 201025 | M8x0.75 02 0.5
J 3,6,10
04 t0 016 JB 15,20 20t0o25 | M8x0.75 0.2 0.5
K 3, 6,10, 15,20
Replacement Part No.
Pad diameter: 1.5 to 3.5 Pad diameter: 510 to 616
Model Pad unit part no. |Buffer assembly part no. Nete 3) Model Pad unit part no. |Buffer assembly part no. Nete 3)
ZP3-Y(015/02/035)UCI(J/K)3-" ZP3B-Y1(J/K)3-B3 ZP3-Y(10/13/16)UMOI(J/K)3~ ZP3-(10/13/16)UMO
SBavinisinsnae = e~ ZP3-(015/02/035)UC1 8 -
ZP3-Y(015/02/035)UCI(J/K)6-" ( ) ZP3B-Y1(J/K)6-B3 ZP3-Y(10/13/16)BO(J/K)3-O ZP3-(10/13/16)BO 2ZP3B-Y2B(J/K)3-BS
Note 1) O in the table indicates the pad material. ZP3-Y(10/13116)UMOI(J/K)6-O | ZP3-(10/13/16) UMD ZP3B-Y2B(J/K)6-B5
Note 2) > in the table indicates the vacuum inlet. ZP3-Y(10/13/16)BO(J/K)6-C> ZP3-(10/13/16)B0)
Note 3) Fitting is ordered separately. ZP3-Y(10/316)UNMDWIKI0-C _[ZP3-(1013161UMD | 7535 vapyk)10-85
Suffix of how to order () U2: M-3AU-2, U4: M-3AU-4-X83 ZP3-Y(10/13/16)BO(J/K)10-O> | ZP3-(10/13/16)BO]
02: KJH02-M3, 04: KJH04-M3-X83 ZP3-Y(10/13/16)UMCWB/K5-OIZP3-(1013/161UMD | 755 o5 m/k)15-85
- . ZP3-Y(10/13/16)BO(JB/K)15-C |ZP3-(10/13/16)BL]
Pad diameter: 94 to 08 _ ZP3-Y(10/13/16)UMTI(JBIK)20-O[ ZP3-(10/13M6)UMD | ypos vom oo o
Model Pad unit part no. _|Bufer assembly part no. Nete 3) ZP3-Y(10/13/16)BO(JB/K)20-O> |ZP3-(10/13/16)BC) (. )
ZP3-Y(04/06/08)UNMCI(J/K)3-O | ZP3-(04/06/08UMD) | 3 viop (y/k)3-B5 Note 1) O in the table indicates the pad material.
ZP3-Y(04/06/08)BU(J/K)3-O ZP3-(04/06/08)B0) Note 2) ¢ in the table indicates the vacuum inlet.
ZP3-Y(04/06/08)UMCI(J/K)6-O | ZP3-(04/06/08)UMC ZP3B-Y2A A,
- (J/K)6-B5 Note 3) Fitting is ordered separately.
gg‘z(g:;ggggiﬁﬁ“’ﬁ:ﬁ égg' gi;gg;gg ﬁ‘,\jm Suffix of how to order (&) U2: M-5AU-2, U4: M-5AU-4-X83
-Y(04/06/08)UMCI(J/K)10-O _|ZP3- ZP3B-Y2A(J/K)10-B5 U6: M-5AU-6-X83, 02: KJH02-M5

ZP3-Y(04/06/08)BLI(J/K)10-> | ZP3-(04/06/08)B]

04: KJH04-M5, 06: KJH06-M5

ZP3-Y(| ) UMCI(JB/K)15->| ZP3-(04/06/08) UMO g g
ZP3-Y(04/06/08)BO(JB/K)15-O | ZP3-(04/06/08)B] ZP3B-Y2A(JB/K)15-B5
ZP3-Y(| ) UMOI(JB/K)20->| ZP3-(04/06/08) UMOI

ZP3-Y(04/06/08)BI(JB/K)20-O | ZP3-(04/06/08)BC] ZP3B-Y2A(JB/K)20-B5

Note 1) O in the table indicates the pad material.
Note 2) & in the table indicates the vacuum inlet.
Note 3) Fitting is ordered separately.
Suffix of how to order (&) U2: M-5AU-2,U4: M-5AU-4-X83
02: KUJH02-M5,04: KJH04-M5
1152




With Buffer: Vacuum Inlet Series ZP3

L ENEEY 61.5 to 93.5
Pad type [IIGETRIND)

Dimensions/With Buffer: Vacuum Inlet Lateral

ZP3-Y015UC]JM-B3

Width across flat4 25
J‘

Width across flat 8
)

M3 x 0.5

13

Q

o

® _|

03 | ¢

Dimensions (per stroke)

ZP3-Y015UCKH-B3
Width across flat 6 a7
Width across =
flat 10
of sEP|Hb
o~ T
m
M8x0.75 || @
Il S
«©
H =
<
@
i ~
‘“ ¥
f
20.8 mT
015 °
02| |,

Dimensions (per stroke)

ZP3-Y02UJJH-B3 ZP3-Y02UL'KH-B3
Width flata _@5 Width across flat 6 o7
{ across flat ‘4_.1
Width across flat 8 ] Width across =
”— flat 10
al O 3 ]
o L
U—_ ol I 3
o T
m| tMex075 ] 2
I x o
o M8x0.75 || b
= [ <
< | =
) «©
b - L =
EIIN < ©
2 ; ; B
20.8 ) (,,3 f
e 08
2.5 208 | OT
925 | |
8 8
Dimensions (per stroke) Dimensions (per stroke)

Model A | B | D |Weight(g) Model A| B D [Weight (g Model A | B | D |Veght(g) Model A | B | D |Wegtg
ZP3-Y015UC1J3-B3|17(30|10| 7.7 ZP3-Y015UCK3-B3| 17 |34 |11 |11.0 ZP3-Y02U(IJ3-B3| 17|30 | 10| 7.7 ZP3-YO2ULK3-B3| 17 [34 |11 |11.0
ZP3-Y015UC1J6-B3|20(37 | 14| 8.6 ZP3-Y015UCIK6-B3| 20 [40.5]|14.5|12.2 ZP3-Y02U[1J6-B3| 20|37 |14 | 8.6 ZP3-Y02ULIK6-B3 | 20 [40.5]14.5 | 12.2

Note) (J in the table indicates the pad
material "N, S, U, F, GN, GS."

ZP3-Y035UC1JM-B3

Width across flat 4

e

|

Width across flat 8
—_—

%

Y
= Y

T

A
13
: Aﬁt/ : B
3
o/ | v x05
7

m| [Mexo7s

mt *
0.8 mT
23.5 °
04
©
8

Dimensions (per stroke)

Note) [ in the table indicates the pad
material "N, S, U, F, GN, GS."

ZP3-Y035UCIKH-B3

Width across flat 6 o7

Width across
flat 10

o S—EH|(B
[

M8x075 | ]
[ 1

M3x0.5

13

1]
008 mr
03.5 e
|4
«©
8

Dimensions (per stroke)

Model A B[ D [Wegig

Model A| B D [Weight (g

ZP3-Y035UC1J3-B3 |17 |30/ 10| 7.7

ZP3-Y035UCIK3-B3| 17 |34 |11 | 11.0

ZP3-Y035UC1J6-B3 (20|37 [ 14| 8.6

ZP3-Y035UCIK6-B3 | 20 | 40.5 [ 14.5] 12.2

Note) J in the table indicates the pad
material 'N, S, U, F, GN, GS."

Note) [ in the table indicates the pad
material "N, S, U, F, GN, GS."

Note) O in the table indicates the pad
material "N, S, U, F, GN, GS."

Note) O in the table indicates the pad
material "N, S, U, F, GN, GS."

Vacuum Inlet Dimensions

Barb fitting One-touch fitting

ZP3-Y015UC1Jm-U2
ZP3-Y02UCIJm-U2
ZP3-Y035UC1JN-U2

ZP3-Y015UCIJm-02
ZP3-Y02UIJm-02
ZP3-Y035UCJN-02

M-3AU-2 [Weight: 0.7 g]*2

Width across flat 5.5

(13.9)

KJH02-M3 [Weight: 1.1 g]*2

ZP3-Y015UC1Jm-U4
ZP3-Y02UlJm-U4
ZP3-Y035UC1Jm-U4

ZP3-Y015UCJm-04
ZP3-Y02UIJm-04
ZP3-Y035UCIJN-04

Width across flat 5

il

o
5]

(11.4)

M-3AU-4-X83 [Weight: 0.7 g]2

KJH04-M3-X83 [Weight: 1.9 g]2

+1 Refer to "ZP3-YAA AU M-B3"

for dimensions.

2 When calculating the weight, add the weight of the fitting to "ZP3-Y AAAUCIY<l -B3".

1153

P2y

=~ |NNN|NITN
=Rk
SNEE =



Series ZP3

Dimensions/With Buffer: Vacuum Inlet LG L]

Pad diameter

ZP3-Y04UMOJHE-B5

o7
‘Width across flat 6
Width across
flat 10
o s—FE 1R
o
M8x0.75 | | | || o
o | =
x
wn
] ¢
<
«© |-
- 4
¥ -
© 4
1]
f
01.2 gT
21.8

ZP3-Y04UMCKHN-B5

ZP3-Y0O6UMOJJHME-B5

04 | Dimensions (per stroke)
24.5 Weight (g)
Model A |B| D [Rotatngfferdaig
) | (K
/ \ ZP3-YO4UMOI%3-B5 2254011 | 12.8] 122
@ AN ZP3-YOAUMOI%6-B5 |25 |46]145] 14.2 | 134
Qy ZP3-Y04UMI%10-B5 |29 |56/ 205] 16.6 | 15.4

ZP3-YO8UMLIJMNE-B5

Note 1) O in the table indicates the pad
N, GS."

material *N, S, U, F, G

Note 2) The symbol "¥¢" indicates buffer type

" or K"

ZP3-YO8UMLKHE-B5

o7
Width across flat 6
Width across
flat 10
a| % 3
N
M8 x 0.75
[ l 2
x
)
] ¢
<
«© |-
- 4
— —
© |
1.8 @
08 °
08.5 Dimensions (per stroke)
Weight (9)
Model A [B| D [Rotating|Noniaing
/o ol
© ?UQ ZP3-YO8UMO3-B5 [225]40[11 |12.8 | 12.2
\\/ ZP3-YO8UMOI<6-B5 |25 |46|145| 14.2 | 13.4
ZP3-Y08UMOI+<10-B5 [29 |56{205| 16.6 | 15.4
8 Note 1) in the table indicates the pad
i U,F,GN, GS."

material "N, S, U,

Note 2) The symbol "¥¢" indicates buffer type

1154

" or K",

EU R Flat with groove

ZP3-Y06UMCKNN-B5

o7
Width across flat 6
Width across
flat 10
al™ [ 3
o
M8x075 | | ©
I S
%
w
my-
< B
«© |- |-
- 4
— —
© |
21.8 ©
06 ]
6.5 Dimensions (per stroke)
Weight (g)
Model A |B| D
W) | K
ﬁm ZP3-YOBUMCI%:3-B5 225 [40[11 | 12.8] 122
® ZP3-YOBUMCI%6-B5 |25 |46[145] 14.2| 134
QQ ZP3-YOBUMCI%10-B5 |29 [561205 166 | 15.4

Note 1) CJin the table indicates the pad
N, GS."

material "N, S, U, F, Gi

Note 2) The symbol "¥<" indicates buffer type

" or K"

Vacuum Inlet Dimensions

Barb fitting

One-touch fitting

ZP3-Y04UMO»HE-U2
ZP3-Y06UMO»HE-U2
ZP3-Y08UMCI>-HE-U2

ZP3-Y04UMOI>r HE-02
ZP3-Y06UMC>r MM-02
ZP3-Y08UMCI> MM-02

(105 |

M-5AU-2 [Weight: 1.5 g]*2

Width across flat 7

5
==

(12.6)

KJH02-M5 [Weight: 1.9 g]*2

ZP3-Y04UMO»-mm-U4
ZP3-YO6UMO»-mm-U4
ZP3-Y08UMLI>-HE-U4

ZP3-Y04UMO>-ME-04
ZP3-YO6UMO>- ME-04
ZP3-Y08UMOI>r HE-04

Width across flat 7

)

21.8

(12.5)

M-5AU-4-X83 [Weight: 1.6 g]2

Width across flat 8

KJHO4-M5 [Weight: 2.4 g]2

1 Refer to "ZP3-YAAUMCI7<MM-B5" for dimensions.
+2 When calculating the weight, add the weight of the fitting to "ZP3-Y AAUMO < M-B5".



With Buffer: Vacuum Inlet Series ZP3

Pad diameter

EC R Y Flat with groove

Dimensions/With Buffer: Vacuum Inlet Lateral

ZP3-YOAUMLCJBEE-B5 ZP3-Y04UMCKHE-B5

Width across
flat 6

o7
'Width across
flat 10 I
i
ol O Bushing 3
2l T L’Lt
| M8 x 0.75
o
< 3
<
0
= L
1 C
® L1 v,
© 1 T —
ﬂ1.‘2 mT
21.8 e Dimensions (per stroke)
Weight (g)
o4
045 [ Model AlB PT?“ aing
) | K
A ZP3-YO4UMO+15-B5 [425[59 | 14.3] 155
@ \3}/ ZP3-Y04UM%20-B5 |50 |665] 15.1 | 16.6
Note 1) O in the table indicates the pad
8 material "N, S, U, F, GN, GS."
Note 2) The symbol 3" indicates buffer type
B or 'K,

ZP3-YOSUMLJBEN-B5 ZP3-YOS8UMLKHE-B5

Width across
flat 6

o7
Width across =
flat 10
o| N, (\F)‘: Bushing
ol LHF 3
| M8 x 0.75
1]
©
< o
x
ey
= H
1 C
® v,
o -
£
01.8 ©
08 |© Dimensions (per stroke)
8.5 Weight (g)
Model A| B i
W) | K)
@ (gﬂ@\ ZP3-YO8UM(+15-B5 |425|59 | 14.3 | 155
\3@ ZP3-Y0BUM%20-B5 [50 [665] 15.1 [ 16.6
8 Note 1) CJin the table indicates the pad
material "N, S, U, F, GN, GS."

Note 2) The symbol "¥¢" indicates buffer
type "JB" or "K".

ZP3-YO6UMLIJBEE-B5 ZP3-YO6UMLKHE-B5

Width across
flat 6 o7

lat - -

Width across ﬂ

flat 10 7
i

N O Bushing

Sla— = a— 3

11 M8 x 0.75
1]
<

6
L
F\LJJ
LL.Ims5x08
11

=
ots [[of .
6 | °© Dimensions (per stroke)

06.5 Weight (g)
Model A | B [Roali

) | K

ZP3-YO6UMO#15-B5 [425[59 | 14.3] 155

© 69 ZP3-Y06UMCI%20-B5 [50 [665] 15.1 [ 16.6
Note 1) CJin the table indicates the pad
8 material 'N, S, U, F, GN, GS."

Note 2) The symbol “¥¢" indicates buffer
type "JB" or "K".

Vacuum Inlet Dimensions

Barb fitting One-touch fitting

ZP3-Y04UMO>-mm-U2 ZP3-Y04UMO>- MM-02

ZP3-YO6UMO>-mE-U2 ZP3-Y06UMO >
ZP3-Y08UMOI>rHE-U2 ZP3-YO8UMOI>r MM-02
Width across
ﬁ fal7 @
(12.6)
M-5AU-2 [Weight: 1.5 g]*2 KJH02-M5 [Weight: 1.9 g]*2
ZP3-Y04UMO>rmm-U4 ZP3-Y04UMO>rmM-04
ZP3-YO6UMO>*mm-U4 ZP3-YO6UMO>rmM-04
ZP3-YO8UMO>*mE-U4 ZP3-YO8UMCI>- MM-04
}ll\éitd;h across }fgffah across
- :
=
M-5AU-4-X83 [Weight: 1.6 g]*2 KJH04-M5 [Weight: 2.4 g]*2

=1 Refer to "ZP3-Y AAUMCIY<MM-B5" for dimensions.
2 When calculating the weight, add the weight of the fitting to "ZP3-Y AAUMC 7l -B5".

1155

P2y

MEH =

NN
-l
-

><
=
=23
(=2
p=



Series ZP3

Dimensions/With Buffer: Vacuum Inlet LG L]

(ZLEEIENEE 610 to 016
LR 3 Flat with groove

S 3. 6, 10 mm)

Dimensions (per stroke)

ZP3-Y10UMCIJHE-B5 ZP3-Y10UMCIKHE-B5 ZP3-Y13UMCIJHNE-B5 ZP3-Y13UMLCIKHE-B5
o7 a7
Width across flat 6 % 'Width across flat 6
Width across Width across
flat 10 flat 10
alw o alv O
g CI K Cr
MBx075 | | | | |. = M8x075 | | | || =
x x
n 0
Square 8 J = Square 8 Q =
Rl N N
Y N
< <
2 i 4 2 i 4 i
& o
b gg " ] ‘L
J— V 1 1
E ! E
21.8 '4 1.8 N
%» Dimensions (per stroke) mﬁ’t Dimensions (per stroke)
u Weight (g) e Weight (g)
Model A | B| D |Rotating|lortizing Model A |B| D |Rotafi
) | K ) | K)
ZP3-Y10UMO3-B5 |235|41|11 | 13.6 | 13.0 ZP3-Y13UMOI%3-B5 235[41]11 [ 13.7 [ 13.1
ZP3-Y10UMO+6-B5 |26 [47|145)| 14.9 | 142 ZP3-Y13UMOI¥¢6-B5 26 [47|145|15.0 | 14.3
ZP3-Y10UMO10-B5 |30 |57{205| 17.3 | 16.1 ZP3-Y13UMO%10-B5 |30 [57|205]17.4|16.2
Note 1) O in the table indicates the pad Note 1) Clin the table indicates the pad material "N,
material 'N, S, U, F, GN, GS." S,U,F,GN,GS."
Note 2) The symbol "¥<" indicates buffer type Note 2) The symbol "3 indicates buffer type "J" or
" or K" K
Vacuum Inlet Dimensions
ZP3-Y16UMCJEN-B5 ZP3-Y16UMLKHE-B5 o o
Barb fitting One-touch fitting
o7
ZP3-Y10UMO - HE-U2
Width across flat 6 ZP3-Y13UMO>-mm-U2
Wi across ZP3-Y16UMCI~MM-U2
o~ O
Sl T
MBx075 | | | || =
o | S M-5AU-2 [Weight: 1.5 g]'2 KJHO02-M5 [Weight: 1.9 g]2
w
M J = ZP3-Y10UMO*mE-U4 ZP3-Y10UMO>xmm-04
< ™ ZP3-Y13UMO*HE-U4
=} =17 ZP3-Y16UMOHE-U4
N
01.8 o
216 T
017 M-5AU-4-X83 [Weight: 1.6 g]*2

ZP3-Y10UMO>-HE-U6
ZP3-Y13UMO>-HE-U6

Weight (g) ZP3-Y16UMO - HE-U6
Model A Bl D .
W) | K Width across flat 7
ZP3-Y16UM1+3-B5 2354111 | 13.8 | 13.2
ZP3-Y16UMCI%6-B5 |26 [47|145|15.1 | 14.4
ZP3-Y16UMI+10-B5 |30 [57|205|17.5 | 16.3 :
o

1156

Note 1) O in the table indicates the pad
U,F,GN, GS."

Note 2) The symbol "¥¢" indicates buffer type

material "N, S, U, F,

J"or "K'

M-5AU-6-X83 [Weight: 1.8 g]'2

KJHO06-M5 [Weight: 3.3 g]*2

1 Refer to "ZP3-YAAUMCIY<MM-B5" for dimensions.
2 When calculating the weight, add the weight of the fitting to 'ZP3-YAAUMO7HE-B5".



Dimensions/With Buffer: Vacuum Inlet LEC1IL!

With Buffer: Vacuum Inlet Series ZP3
ELEENESEY 610 to 616

ZP3-Y10UMOJBHEE-B5

Width across
flat 6 27,

Width across
flat 10

i
1

10
22

} Bushing
d

-

M8 x 0.75

ZP3-Y10UMCKHN-B5

fl

Square 8

M5 x 0.8

Dimensions (per stroke)

Model A | B

Weight (g)

(J) (K)

Rotating ok
{

ZP3-Y10UMOI»x15-B5 |435|60 | 15.0

16.2

67.5]15.8

2ZP3-Y10UMOI++20-B5 |51

173

Note 1) C in the table indicates the pad
GN, GS."

Note 2) The symbol

material "N, S, U, F,

|nd|cates buffer
type "JB" or 'K".

ZP3-Y16UMLJBEE-B5 ZP3-Y16UMLKHE-B5

Width across flat 6

o7
-2l

Width across
flat 10

=
CI
i

10
22

E Bushing
f

M8 x 0.75

il

Square 8

| M5x0.8

19
T
IN

12

1.2

Dimensions (per stroke)

Weight (g)

Model A

ZP3-Y13UMCJJBEE-B5

Width across
flat 6 27,

'Width across
flat 10

o
1

h

10
22

E Bushing
i

M8 x 0.75

Square 8

| M5x0.8

19
TL
~

e ? o
12

2
©
2

;LR Y Flat with groove

ZP3-Y13UMLCKHE-B5

il

013 Dimensions (per stroke)
014 Weight (g)
Model A | B |Rotati
) | K)
ZP3-Y13UMC%15-B5 [435[60 | 15.1 [ 16.3
ZP3-Y13UMC%20-B5 [51 [675]15.9 [17.4

Note 1) (in the table indicates the pad
F,GN, GS."

Note 2) The symbol

material "N.

mdlcates buffer
type "JB" or 'K".

Vacuum Inlet Dimensions

Barb fitting One-touch fitting

ZP3-Y10UMO>-HE-U2
ZP3-Y13UMO>-mm-U2
ZP3-Y16UMC>-HE-U2

ZP3-Y10UMOI>r HE-02
ZP3-Y13UMOI> HE-02
ZP3-Y16UMCOI> MM-02

P2y

ZP3-Y16UMO>-ME-04

Width across flat 8

(17.8)

ZP3-Y16UMCI>-HE-U6

ZP3-Y16UMC]>-HE-06

()

(K)

2ZP3-Y16UMOI+<15-B5 [435/60 | 15.2

16.4

2ZP3-Y16UMI+<20-B5 |51 |67.5]16.0

17.5

Note 1) O in the table |nd|cates the pad
material "N, S, U, F, GN, GS."

Note 2) The symbol "¥¢" \ndlcates buffer
type "JB" or "K"

= Width across flat 7
N |

M-5AU-6-X83 [Weight: 1.8 g]2

f
\

KJHO06-M5 [Weight: 3.3 g]*2

#1 Refer to "ZP3-Y AAUMO><MM-B5" for dimensions.
2 When calculating the weight, add the weight of the fitting to 'ZP3-Y AAUMC<lIll -B5".

1157

=~ |NNN|NITN
=Rk
SNEE =



Series ZP3

Dimensions/With Buffer: Vacuum Inlet LEC1IE= !

ZP3-Y04B[JHE-B5

Width across
flat 6

o7
2l

ZP3-Y04BLKHE-B5

Pad diameter
Pad type

Width across
flat 10 %
o (O
AP
M8 x0.75 L2
o | Mol S
wn
] 2
< S L 4
©
w© I
018 | NT
o4 |
04|
04.5
Dimensions (per stroke)
Weight (g)
© Model A |B| D [RotafinglNaroging
V) | K
ZP3-Y04BOI%3-B5 | 245[42[11 | 12.8[12.2
8 ZP3-Y04BO1%6-B5 |27 |48[145]14.2 [ 13.4
ZP3-Y04B1%10-B5 |31 [58[205]16.6 [ 15.4

ZP3-Y08BLlJMME-B5

Width across
flat 6

o7

Note 1) Clin the table indicates the pad
material "N, S, U, F, GN, GS."
Note 2) The symbol “¥<* indicates buffer

type "J" or "K".

ZP3-Y08BLKHN-B5

Width across
flat 10
N O
Ol £ 1B
[ B I
M8x0.75 | | S
o 1 x
[fe}
] 2
< 2 L .
(]
© |
1.8, ™
5.2
08
2,
29

1158

Dimensions (per stroke)

ZP3-Y06BJJHNE-B5 ZP3-Y06BKHN-B5
Width across
flat 6 27,
Width across
flat 10 %
N
al 1R
1 U
M8 x 0.75 S
1 <
0
]
< 3 C 4
@
© f
0[1.8 mT
23.4
26
07
Dimensions (per stroke)
K\ We_ighi (9)
= Q) Model A By
\NZJ W | (9
ZP3-Y06BI%3-B5 [245[42[11 | 12.8]12.2
8 ZP3-Y06BLI%6-B5 |27 [48]145] 14.2|13.4
ZP3-Y06BI%10-B5 [31 [58]205[ 16.6 | 15.4

Weight (g)

Model A B| D
) | (K
ZP3-Y08B1>r3-B5 [245(42/11 | 129 | 12.3
ZP3-Y08BL1>r6-B5 |27 [48]145| 14.3 | 13.5
ZP3-Y08B>r10-B5 |31 [58/20.5| 16.7 | 15.5

Note 1) O in the table indicates the pad
material "N, S, U, F, GN, GS."

Note 2) The symbol "¥¢" indicates buffer type
" or K"

Note 1) Oin the table indicates the pad
U,F,GN,GS."

material "N, S, U,

Note 2) The symbol “¥¢" indicates buffer

Vacuum Inlet Dimen

type "J" or "K".

sions

Barb fitting One-touch fitting

ZP3-Y04BvHE-U2
ZP3-Y06BLI-HE-U2
ZP3-Y08BL>-HME-U2

ZP3-Y04B5rHE-02
ZP3-Y06BL15rME-02
ZP3-Y08BLl>rMN-02

Width across flat 7

(10.5) ‘

M-5AU-2 [Weight: 1.5 g]*2

KJH02-M5 [Weight: 1.9 g]*2

ZP3-Y04BLvHE-U4

ZP3-Y08B[1>-MM-U4

ZP3-Y04B5rME-04
ZP3-Y06BL5rME-04
ZP3-Y08B[1-MM-04

Width across flat 7

28

21.8

(12.5)

M-5AU-4-X83 [Weight: 1.6 g]2

KJH04-M5 [Weight: 2.4 g]2

+1 Refer to "ZP3-Y A ABOY<HM-B5"

for dimensions.

+2 When calculating the weight, add the weight of the fitting to "ZP3-Y AABO < HE-B5".



With Buffer: Vacuum Inlet Series ZP3

Pad diameter
Pad type
SRl 15, 20 mm)

Dimensions/With Buffer: Vacuum Inlet LEC1IL= !

ZP3-Y04BJJBEE-B5 ZP3-Y04BLJKHNE-B5 ZP3-Y06BL]JBEE-B5 ZP3-Y06BLJKHNE-B5
Width across Width across
flat 6 o7 flat 6 o7
Width across flat 10 i] Width across flat 10 ‘ éﬂ-
J— [ —
ol (\”;; Bushing ol [\”0; Bushing E
| (@ TN CLT
[ -
| M8 x 0.75 I M8 x 0.75
o m
< 2 < f
2 2
[ 1 [ ¥

1 pl
2 L vy S vy
® ®
@ T © S—1
— =iz
7 f
01.8 gr 21.8 ©l o
04| . . 034 b . .
045 | Dimensions (per stroke) 26 Dimensions (per stroke)
Weight (g) o7 Weight (g)
Model A | B [Rotating]Voroéig = Model A | B |Rotating]Voroéing
() | (K () | (K)
ZP3-Y04B1+r15-B5 |445|61 | 14.3 | 1565 ZP3-Y06B1+15-B5 |445)|61 | 14.3 | 155
mI @ ZP3-Y04B[1+r20-B5 |52 [685| 15.1 | 16.6 OOI @ ZP3-Y06B1+20-B5 |52 |685| 15.1 |16 .6
Note 1) OJin the table indicates the pad Note 1) Oin the table indicates the pad
8 material "N, S, U, F, GN, GS." 8 material "N, S, U, F, GN, GS."
— Note 2) The symbol "3<" indicates buffer el Note 2) The symbol "3¢" indicates buffer
type "JB" or "K". type "JB" or "K".

ZP3-Y08BLlJBEE-B5

ZP3-Y08BLLKHNE-B5

Vacuum Inlet Dimensions

Barb fitting One-touch fitting

Width across
flat 6

ZP3-Y04BvHE-U2
ZP3-Y06BL1rHE-U2
ZP3-Y08BLl5rHE-U2

ZP3-Y04BL*HE-02
ZP3-Y06BL1*HNE-02
ZP3-Y08BLHN-02

Width across flat 7

M-5AU-2 [Weight: 1.5 g]*2

KJH02-M5 [Weight: 1.9 g]*2

ZP3-Y04BvHE-U4
ZP3-Y06BLI M
ZP3-Y08BL5*ME-U4

ZP3-Y04B*HNE-04

Width across flat 7

)

o7
Wit across it 10 ] élﬁ_
[ —
ol (\”; Bushing
— | X
[
| M8 x 0.75
o
o
o
< <
0
s
.l
) vy
@
© Tl L]
o018 |||
25.2 . R
28 Dimensions (per stroke)
pres Weight (g)
09 Model A | B [Rotainglrotig
() | (K)
o T ZP3-Y0BBL1715-B5 | 44561 | 14.4] 156
N ZP3-Y08B[1%20-B5 |52 [685] 152 16.7
Note 1) Oin the table indicates the pad
8 material "N, S, U, F, GN, GS."

Note 2) The symb

" indicates buffer

type "JB" or "K".

H}.H—H,L

@
[}

M-5AU-4-X83 [Weight: 1.6 g]2

+1 Refer to "ZP3-YAABLIY<MM-B5" for dimensions.
+2 When calculating the weight, add the weight of the fitting to *ZP3-Y A ABCI¥<HIE-B5".

1159

KJH04-M5 [Weight: 2.4 g]*2

P2y

=~ |NNN|NITN
=Rk
SNEE =



Series ZP3

(L ELEED 010 to 016

Dimensions/With Buffer: Vacuum Inlet LEC1IL= !

ZP3-Y10BCJHME-B5

Width across
flat 6 27,

¥
ol
1‘]—7_

Width across
flat 10

D
22
|

M8 x0.75

M5x0.8

Square 8
N

22

I ==

ZP3-Y10BLOOKHN-B5

B

|
218 N
o6, Dimensions (per stroke)
210 | Weight (g)
o1 Model A |B| D |Rotali
W) | (K)
ZP3-Y10BO1%3-B5 [ 265[44[11 | 13.8[13.2
ZP3-Y10B1%6-B5 |29 [50[145] 151 [ 14.2
ZP3-Y10B1%10-B5 |33 |60[205] 17.5 | 16.3

Note 1) Oin the table indicates the pad

material N, S, U, F, GN, GS

Note 2) The symbol "¥<" indicates buffer type

ZP3-Y16BClJHNE-B5

" or K",

ZP3-Y16BL_KHE-B5

Width across flat6 27,
Width across
flat 10 %
N (O
iEN =B
L @
M8x0.75 | | c
} x
[11] [fe}
Square 8 Q =
N
M
< 8 i 4
J w
o H
=
21.8 N*
o11.4
216
17

Dimensions (per stroke)

Weight (g)

Model A B/ D i
W) | K
ZP3-Y16B1+3-B5 |265(44/11 | 14.1 | 135
ZP3-Y16B1r6-B5 |29 [50|145| 15.4 | 14.5
ZP3-Y16B0+r10-B5 |33 [60/205| 17.8 | 16.6

Note 1) O in the table indicates the pad
! S

material "N, S, U, F, GN,

Note 2) The symbol "¥¢" indicates buffer type

1160

" or 'K,

ZP3-Y13BLJJEE-B5
Width across
flat6 27,
Width across
flat 10 %
3 3
ald [ 3
-1 @
M8x075 || S
| x
0
Square 8 Q =
N
< o 5 4
N

=
3‘LJ1

Pad type
SN 3. 6, 10 mm)

ZP3-Y13BLUKHNE-B5

)

o |7
&®
~

Dimensions (per stroke)

013
014

Weight (g)

Model A |B| D i
() | (K
ZP3-Y13BO3-B5 | 265 44|11 | 14.0 | 134
ZP3-Y13B%6-B5 |29 |50|145|15.3 | 14.4
ZP3-Y13BO*10-B5 |33 [60/205|17.7 | 16.5

®

Note 1) CJin the table indicates the pad

material "N, S, U, F, GN, GS.

Note 2) The symbol "¥¢" indicates buffer type

" or K"

Vacuum Inlet Dimensions

Barb fitting One-touch fitting

ZP3-Y10BL>xHE-U2
ZP3-Y13B>rME-U2
ZP3-Y16B5rHE-U2

ZP3-Y10B*HE-02
ZP3-Y13BL*HE-02
ZP3-Y16BL5rHE-02

B

M-5AU-2 [Weight: 1.5 g]*2

Width across flat 7

e

KJH02-M5 [Weight: 1.9 g]*2

ZP3-Y10BI>xmE-U4
ZP3-Y13B>rHE-U4

ZP3-Y10B*HE-04
ZP3-Y13B*HE-04
ZP3-Y16BL5rHE-04

M-5AU-4-X83 [Weight: 1.6 g]2

KJHO04-M5 [Weight: 2.4 g]*2

ZP3-Y10BL>xHE-U6
ZP3-Y13BL5rHE-U6
ZP3-Y16BL5rHE-U6

ZP3-Y10BL*HE-06
ZP3-Y13BLO 06
ZP3-Y16BL5HE-06

M-5AU-6-X83 [Weight: 1.8 g]*2

KJHO06-M5 [Weight: 3.3 g]*2

1 Refer to "ZP3-Y A ABLYMM-B5" for dimensions.
2 When calculating the weight, add the weight of the fitting to "ZP3-Y AABCIY<HM-B5".



With Buffer: Vacuum Inlet Series ZP3

ELEENEEY 610 to 616
Pad type

ZP3-Y13BOKHNE-B5

Dimensions/With Buffer: Vacuum Inlet LEC1IL= !

ZP3-Y13BOOJBEME-B5

ZP3-Y10BCJBEE-B5 ZP3-Y10BLCKHE-B5

Width across

ZP3-Y13BO¥15-B5 |465|63 | 154 | 16.6

ZP3-Y13B120-B5 |54 |705] 16.2 | 17.7

Note 1) OJin the table indicates the pad
material "N, S, U, F, GN, GS."

Note 2) The symbol "¥¢" indicates buffer
type "JB" or "K".

ZP3-Y10BO¥15-B5 |465(63 | 15.2 | 16.4

ZP3-Y10BO¥20-B5 |54 |705| 16.0 | 17.5

Note 1) Cin the table indicates the pad
material "N, S, U, F, GN, GS."

Note 2) The symbol "¥¢" indicates buffer
type "JB" or "K".

Width across
a7 flat 6 o7 |
Width across Width across f
flat 10 flat 10
ola éﬁ Bushing ol AI Bushing
=|o e = @
[l T
I M8 x 0.75 I M8 x 0.75
) [
Square 8 g Square 8 g
< x < X
= s
1 1 ,
o Ly, « I
o o
wn w
S i T B LEF,& "
2 — *‘ 2 — ‘* —
01.8 ot 018 ot
1.8,
26| Dimensions (per stroke) 08.4 Dimensions (per stroke)
210 | Welght () 013 | Weight ()
ot Model A | B |Rotating] 014 Model A | B |Rotating]}
W) | (K W) | (K

Vacuum Inlet Dimensions

Barb fitting One-touch fitting

ZP3-Y16BC.JBEE-B5

Width across
flat 6 o7

Width across i

flat 10

o N* Bushing
o
L) _|
| M8 x 0.75

ZP3-Y16BOKENE-B5

Square 8

22
10
a‘\ﬂ L0

[ [ [ms5x08
T 15

gz

1.8 c\A
22,
011.4
16
22

Dimensions (per stroke)

ZP3-Y10BO*ME-U2
ZP3-Y13B*HE-U2
ZP3-Y16BOxHME-U2

ZP3-Y10B*HME-02
ZP3-Y13B*HNE-02
ZP3-Y16B1*HE-02

2

M-5AU-2 [Weight: 1.5 g]*2

S}
Width across flat 7

Width across flat 7 i %

KJH02-M5 [Weight: 1.9 g]*2

ZP3-Y10B5>*HE-U4
ZP3-Y13BO*ME-U4
ZP3-Y16B*HE-U4

ZP3-Y10B5mN-04
ZP3-Y13B-*MN-04
ZP3-Y16B*HE-04

Width across flat 7

e

M-5AU-4-X83 [Weight: 1.6 g]2

= Width across flat 8
<}
A -

17.8

KJHO04-M5 [Weight: 2.4 g]*2

017

Weight (g)

Model A|B

ZP3-Y10BvHE-U6
ZP3-Y13BL5*mE-U6
ZP3-Y16B1:-HME-U6

ZP3-Y10BLHE-06
ZP3-Y13BLHN-06
ZP3-Y16B*HMME-06

) | (K

ZP3-Y16BO1v15-B5 |465(63 | 15.5 | 16.7

Width across flat 7

ZP3-Y16B[1%<20-B5 |54 |705]16.3 | 17.8

Note 1) O in the table indicates the pad
material "N, S, U, F, GN, GS."

Note 2) The symbol "¥¢" indicates buffer
type "JB" or "K".

025

(14.5)

M-5AU-6-X83 [Weight: 1.8 g]*2

Width across flat 10 E

(18.6)
KJHO06-M5 [Weight: 3.3 g]*2

P2y

=~ |NNN|NITN
=Rk
SNEE =

1 Refer to "ZP3-Y A ABLIY<MM-B5" for dimensions.
2 When calculating the weight, add the weight of the fitting to "ZP3-Y AABLIY<HE-B5".

1161



Series ZP3
Construction

Component Parts List

Pad with adapter

it

Component Parts

No. Description Material (Surface treatment) Note
NBRY/Silicone rubber
1 |Pad Urethane rubber/FKM
Conductive NBR/Conductive silicone rubber
2 |Adapter Brass(Electroless nickel plated)
3 |Gasket Stainless steel 304/NBR
M6 x 0.75
Structural steel(Trivalent chromated) | M8 x 0.75
4 |Nut M12x 1
Brass(Nickel plated) M10x 1
5 |Fitting —

Pad with buffer

3

b

I
0 ® ®

Component Parts

No. Description Material (Surface treatment) Note
NBR/Silicone rubber
1 |Pad Urethane rubber/FKM
Conductive NBR/Conductive silicone rubber
2 | Adapter Brass(Electroless nickel plated)
3 | Piston rod Stainless steel
4 | Return spring Stainless steel
5 | Buffer body Brass(Electroless nickel plated)
6 | Buffer p Brass(Electroless nickel plated)
7 | Nut Structural steel(Trivalent chromated)
8 | Fitting —
9 |Bushing —
1162



Series ZP3

Series ZP3 Mounting Adapter Part No.

Applicable pad part
Adapter part no.

Page

-, ZP3-015U01
ZP3A-T1-A3 ia ZP3-02U0] | P.1168
4. ZP3-035U0]

ZP3A-T1-B3 ZP3-02Uu0 | P.1168

"] ZP3-015U0]
J ZP3-035U00

=4 ZP3-015U00
ZP3A-T1-A6-B3 s ZP3-02UC1 | P.1168
E ZP3-035U0]

ZP3-04UMO

= ZP3-06UMC]

ZP3-08UMCI
ZP3A-T2-A5 é ZP3-04BC] P.1168
- ZP3-06B0]

ZP3-08BC]

ZP3-04UMO
— ZP3-06UMC

g ZP3-08UMC
ZP3A-T2-B5 ZP3-04B0] P.1168
L =) ZP3-06B]

ZP3-08B]

ZP3-04UMOI

E=Z |zp3-osumO

ZP3A-T2-A10-B5| B gg:ggg“mm P.1168
ZP3-06BL]

- ZP3-08B0J

ZP3-04UMD]
ﬁ:ﬁ ZP3-06UMO
ZPIATA004 | o < |ZPEOSINT (g

1
Ef ZP3-06B0]

-5 ZP3-08BC]

ZP3-10UMC]
_ ZP3-13UMC]
ZP3A-T3-A5 ﬁ ZP3-16UML] | p 1460
ZP3-10BC]
=+ ZP3-13B0]

ZP3-16BJ

ZP3-10UMO

— ZP3-13UMO
ZP3-16UMC

ZP3A-T3-B5 ! ZP3-10B0] P.1169

- ZP3-13BO

ZP3-16BOJ

ZP3A-T3-A12-B5

Adapter Applicable Pad List

ZP3-10UMO
ZP3-13UMO
ZP3-16UMCI
ZP3-10BO
ZP3-13BO
ZP3-16B]

P.1169

ZP3A-T3-A12-04

ZP3-10UMC
ZP3-13UMO
ZP3-16UMCI
ZP3-10BO
ZP3-13BO
ZP3-16B]

P.1169

ZP3A-T3-A12-06

ZP3-10UMO
ZP3-13UMO
ZP3-16UMCI
ZP3-10BO
ZP3-13BO
ZP3-16B]

P.1169

ZP3A-Y1-B3

ZP3-015U0
ZP3-02U]
ZP3-035U0]

P.1169

ZP3A-Y2-B5

ZP3-04UMC
ZP3-06UMCI
ZP3-08UMCI
ZP3-04B]
ZP3-06B]
ZP3-08B]

P.1169

ZP3A-Y3-B5

ZP3-10UMC
ZP3-13UMO
ZP3-16UMCI
ZP3-10BO
ZP3-13BO
ZP3-16BC]

P.1169

1163

P2y

=~ |NNN|NITN



Series ZP3
Buffer Applicable Pad List

Buffer Assembly Part No.

Buffer assembly part no. Buffer assembly part no.

ZP3-04UMC]
ZP3-015U0 ZP3-06UML
- ZP3-08UML]
ZP3B-T1J3-B3 ZP3-02UC1 |P.1170 ZP3B-T2AK3-B5 zp3-0a0] | P70
= ZP3-035UC] ZP3-06B]
Q ZP3-08BLJ
B ; ZP3-04UMO]
f ZP3-06UMC]
b ZP3-015UL] ZP3B-T2AK6-B5 ZP3-08UML] | p 1179
ZP3B-T1J6-B3 ZP3-02UL1 | P.1170 ZP3-04B0
ZP3-035U0J ZP3-06BJ
ZP3-08BLJ
&,
ZP3-04UMC]
ZP3-06UMC]
ZP3-08UML]
ZP3-015UC] ZP3B-T2AK10-B5 ZP3-04B0] P.1170
ZP3B-T1K3-B3 ZP3-02U0 | PA170 ZP3-06B0]
= ZP3-035U0] ZP3-08B01
-gk l‘ ZP3-04UMC]
= ZP3-06UMC]
b o ZP3B-T2AJB15-B5 ZP3-08UMLI | p 1179
] ZP3-015U0J ZP3-04B0 |
ZP3B-T1K6-B3 ZP3-02U [ PA170 ZP3-06B]
ZP3-035UC] ZP3-08BLJ
ZP3-04UMC]
ZP3-04UMC] ZP3-06UMC]
ZP3-06UMO . - ZP3-08UML]
I ZP3.0BUMD) |, ZP3B-T2AJB20-B5 . Zp30agr | P10
: : ZP3-04B0 | : ZP3-06BL]
ZP3-06BL] i ZP3-08BJ
ZP3-08BJ
1 R
ZP3-06UMC] ZP3-08UMC]
ZP3B-T2AJ6-B5 - ZP3-08UMCI | .0 ZP3B-T2AK15-B5 Zp30agn | P10
§ | ZP3-04B0 ZP3-06B0]
1 ZP3-06BL] ZP3-08BL0]
ZP3-08BJ
R
ZP3-04UMO ZP3-04UMC]
ZP3-06UMC ZP3-06UML]
ZP3-08UMC] g g ZP3-08UML]
ZP3B-T2AJ10-B5 Zpaoagr P10 ZP3B-T2AK20-B5 Zpa.0ag) | P10
ZP3-06BCI _ ZP3-06BC]
ZP3-08BJ - ZP3-08B]

1164



Buffer Applicable Pad List Series ZP3

Buffer Assembly Part No.

Buffer assembly part no. Buffer assembly part no.

ZP3-10UMO]
et ZP3-10UMC]
ZP3-16UMC] -
ZP3B-T2BJ3-B5 Zp3-1080) | P G:.I §$§1 ggmg
ZP3-13B0 . X -
. g ZP3B-T2BK15-B5 | Zp3-1080 | P
i ZP3-13B0
: ZP3-10UMC] ZP3-16B0
, ZP3-13UMC]
=== |zpP3-16UuMO
ZP3B-T2BJ6-B5 3 Zp3-1080) | P
% ZP3-13B0J
qj ZP3-16BLJ ZP3-10UMO]
ZP3-10UMO gigqggmg
ZP3-13umO ZP3B-T2BK20-B5 ) P
ZP3-16UMC] ZP3-10BUJ
ZP3B-T2BJ10-B5 Zp3-1080 | T : ZP3-13B0
ZP3-13B0J ZP3-16B0
ZP3-16B0
ZP3-10UMC]
ZP3-13UMO
ZP3-16UMC]
ZP3B-T2BK3-B5 P
ZP3-10B0] ZP3-015U00
ZP3-13B0 ZP3B-Y1J3-B3 ZP3-02u] | P72
- ZP3-16B0 == ZP3-035U01
ZP3-10UMD] -3
ZP3-13UMO
R ZP3-16UMC]
ZP3B-T2BKE-B5| = — - | Zpaiomm | P
%} ZP3-1380] "
8 ZP3-16B0
i 1 ZP3-015U01
ZP3-10UMO] ZP3B-Y1J6-B3 ZP3-02u] | P.172
ZP3-13UMO ZP3-035U01
ZP3-16UMC]
ZP3B-T2BK10-B5 Zp3-1080] | P
ZP3-13B0
ZP3-16BL
ZP3-10UMO]
ZP3-13UMD] ZP3-015U01
ZP3-16UML] ZP3B-Y1K3-B3 — ZP3-02u] | P72
ZP3B-T2BJB15-B5 Zpa-100] | P ZP3-035U0]
ZP3-13B0
ZP3-16B0] :
ZP3-10UMO]
ZP3-13umO . ZP3-015U01
ZP3-16UML] ZP3B-Y1K6-B3 < ZP3-02u0] | P.1172
ZP3B-T2BJB20-B5 P :
ZP3-10B0 ZP3-035U01
ZP3-13B0J
ZP3-16B0

1165

=~ |NNN|NITN



Series ZP3

Buffer Assembly Part No.

ZP3B-Y2AJ3-B5

ZP3-04UMC
ZP3-06UMC
ZP3-08UMO
ZP3-04B]
ZP3-06B]
ZP3-08B]

Buffer assembly part no.

P.1172

ZP3B-Y2AJ6-B5

ZP3-04UMO
ZP3-06UMC]
ZP3-08UMCI
ZP3-04BC]
ZP3-06B]
ZP3-08B]

P.1172

ZP3B-Y2AJ10-B5

ZP3-04UMCI
ZP3-06UMCI
ZP3-08UMO
ZP3-04B]
ZP3-06B]
ZP3-08B]

P.1172

ZP3B-Y2AK3-B5

ZP3-04UMO
ZP3-06UMC]
ZP3-08UMCI
ZP3-04BC]
ZP3-06B]
ZP3-08B]

P.1172

ZP3B-Y2AK6-B5

ZP3-04UMCI
ZP3-06UMCI
ZP3-08UMO
ZP3-04BJ
ZP3-06B]
ZP3-08B]

P.1172

ZP3B-Y2AK10-B5

ZP3-04UMC
ZP3-06UMC]
ZP3-08UMCI
ZP3-04BC]
ZP3-06B]
ZP3-08B]

P.1172

1166

Applicable pad part no.,
Buffer assembly part no. m Page

ZP3B-Y2AJB15-B5

ZP3B-Y2AJB20-B5

ZP3-04UMCI
ZP3-06UMC
ZP3-08UMC
ZP3-04BO]
ZP3-06B]
ZP3-08BJ

P.A172

ZP3-04UMC
ZP3-06UMC
ZP3-08UMO
ZP3-04B0]
ZP3-06B]
ZP3-08B0J

P.A172

ZP3B-Y2AK15-B5

ZP3B-Y2AK20-B5

LULLU

ESHRTEAY

ZP3-04UMOC
ZP3-06UMC]
ZP3-08UMCI
ZP3-04BO
ZP3-06B0]
ZP3-08BC]

P.A172

ZP3-04UMO
ZP3-06UMC]
ZP3-08UMC
ZP3-04BO
ZP3-06BC]
ZP3-08B]

P.1172




Buffer Applicable Pad List Series ZP3

Buffer Assembly Part No.

Buffer assembly part no. Buffer assembly part no.

ZP3-10UMC]
ZP3-13UMC]
ZP3-16UMC]
5 ' ZP3-10UMC]
ZP3B-Y2BJ3-B5 gg_}ggg P73 ZB3 10U
ZP3-16B0] ZP3B-Y2BJB15-B5 E—l ggjgggm P.I1T3
A= ZP3-13B0]
- — ;‘ ZP3-16BC]
R ZP3-10UMO 4
— ZP3-13UMO £
ZP3B-Y2BJ6-B5 Ig iggjgggm P73 1
b
¥ ZP3-13B0] !
@) ZP3-16B0J : 2
# ZP3-10UMC]
@ ZP3-13UMO
ZP3-10UMC] ZP3B-Y2BJB20-B5 ZP3-16UMCT | p 117
ZP3-13UMO C = ggg'}ggg
ZP3B-Y2BJ10-B5 ggjgggm P73 ZP3-16B0]
ZP3-13B0
ZP3-16B0]
ZP3-10UMC
ZP3-13UMC]
g ' ZP3-16UML] ZP3-10UMC]
ZP3B-Y2BK3-B5 gg_}ggg PAIT3 Zb3- 10U
ZP3-16B0] ZP3B-Y2BK15-B5 gggjgggu P73
ZP3-13B0]
== |zp3-16BO
: 4
ZP3-10UMC] =
ZP3-13UMC &
ZP3B-Y2BK6-B5 2 o | pas =
ZP3-1380]
ZP3-16B0] =
ZP3-10UMC]
§p | ZPs-13uMO
ZP3-10UM] ZP3B-Y2BK20-85 o | ZR31GUNE by
ZP3-13UMO - 18 gg'}ggg
ZP3B-Y2BK10-B5 iggjgggm P73 ZP3-16B0]
ZP3-13B0
ZP3-16B0)

1167

= |NNIN]|TN|N



Series ZP3

Mounting Adapter Part No.

Vacuum Inlet Direction Vertical

Adapter part no. ‘ ZP3A-T1-A3 [Weight: 0.5 g]

Adapter part no. ‘

ZP3A-T2-B5 [Weight: 2.0 g]

Width across
Width across -»; ~ M3x05 fat 7 M5 x08
flat —
Gasket
o f M-
& 7
© Applicable pad part no.
o <F 208 ] -
93 015 = ZP3-04UM
02 Xl 01.8 ZP3-06UM
Applicable pad part no) ” 23 ZP3-08UM
ZP3-015U 05 ZP3-04B
ZP3-02U ZP3-06B
ZP3-035U ZP3-08B
Adapter part no. ZP3A-T1-B3 [Weight: 0.8 g] Adapter part no. ‘ ZP3A-T2-A10-B5 [Weight: 10.7 g]
Width across M0 x1
flat 14 M5 x 0.8
M3x0.5 1 I
) ©
}ﬁ'f’%h across G ﬂ
o
3 Ei iitmeulls
Width across|
i i :
XN Applicable pad part no.
23] gis n o ZP3-04UM
02 - ZP3-06UM
ppl pad part no) ZP3-08UM
ZP3-015U ZP3-04B
ZP3-02U ZP3-06B
ZP3-035U ZP3-08B
Adapter part no. ZP3A-T1-A6-B3 [Weight: 2.7 g] Adapter part no. ‘ ZP3A-T2-A10-04 [Weight: 9.9 g]
x\zlz‘tdﬂamss Applicable tubing: o4
pplicable tubing: o
M6 x 0.75
==
Width across
e | \
g | N J T
o —FETR A T
B ~ Wi Width across
idih across o | flat .
o flats { o6 L N— /}‘ M10x 1 Applicable pad part no|
S o = 0 ZP3-04UM
! _ ®, = ZP3-06UM
o "-W 20.8 || Applicable pad part no] - 01.8 ZP3-08UM
e 013 ZP3-015U - 03] ZP3-04B
22 ZP3-02U P ZP3-06B
ZP3-035U ZP3-08B
Adapter part no. ZP3A-T2-A5 [Weight: 1.4 g] Adapter part no. ‘ ZP3A-T3-A5 [Weight: 2.4 g]

Width across
flat 7.

lat M5 x 0.8

™ Gasket

5.5
25

Applicable pad part no,|
1.8 ZP3-04UM
23 ZP3-06UM
e ZP3-08UM
ZP3-04B
ZP3-06B

3.5

14

ZP3-08B

Applicable pad part no|

ZP3-10UM
ZP3-13UM
ZP3-16UM
ZP3-10B
ZP3-13B
ZP3-16B

1168



Vacuum Inlet Direction Vertical

Mounting Adapter Part No. Series ZP3

Adapter part no. | ZP3A-T3-B5 [Weight 5.1 g] Adapter part no. | ZP3A-T3-A12-04 [Weight: 19.6 g]
) C_T = Applicable tubing: o4
}I‘\éltd%across M5 x 0.8 }giid%riacross H><ﬂ
o © oG T 0D
: b O s
L — Width across Mizx1
o flat 14 L
- Applicable pad part no, o Applicable pad part no,
| 21.8 ZP3-10UM ZP3-10UM
T 04 ZP3-13UM < ZP3-13UM
06 ZP3-16UM o 01.8 ZP3-16UM
ZP3-10B - ZP3-10B
ZP3-13B ZP3-13B
ZP3-16B ZP3-16B
apter part no. -T3-, -B5 [Weight: 18.2 g] apter part no. -T3- -06 [Weight: 17.5 g]
Ad ZP3A-T3-A12-B5 Ad. ZP3A-T3-A12-06
M5 x 0.8 M12x1 Lx’; ‘\W‘ Applicable tubing: 06
X\éitd%tlacross ] m[ }ﬁ"d %E‘;“"’SS H><ﬂ
;¢ [T
Y ol o o
o7 == B g CH>< y
« N Width across 1 12x1
}ﬁ'ﬁﬁ across L flat 14 -
o Q_%é:ﬁ ) [Applicable pad part no] o Eﬁé_ [Applicable pad part no]
ZP3-10UM ZP3-10UM
< H ZP3-13UM - ] ZP3-13UM
218 ZP3-16UM © 01.8 ZP3-16UM
2 04 ZP3-10B - 04 ZP3-10B
o6 ZP3-13B 06 ZP3-13B
ZP3-16B ZP3-16B

Vacuum Inlet Direction Lateral

Adapter part no. | ZP3A-Y1-B3 [Weight: 1.8 g]

Adapter part no.\ ZP3A-Y2-B5 [Weight: 6.7 g] | | Adapter part no.| ZP3A-Y3-B5 [Weight: 7.1 ]
28 28
M5 x 0.8 M5 x 0.8
of 1
25 © © @
M3 x 0.5 IS] o
x x
0 ©
Nt T m[ a ° - = e 7 =
x
g
- == 0 [le]
4
— *l
" e | Pl s <
i gTBO.B‘ ‘ S| ot1.8 T ois S
01.5 | 03 - o4
Le_z»‘ o5 26
fﬁ Applicable pad part no, f N Applicable pad part no,
© © ZP3-04UM © ZP3-10UM
@ : \7/ ZP3-06UM \\/ ZP3-13UM
: Applicable pad part noj ZP3-08UM ZP3-16UM
ZP3-015U ZP3-04B ZP3-10B
ZP3-02U 8 ZP3-06B 8 ZP3-13B
ZP3-035U ZP3-08B ZP3-16B

1169

P2y

MEH =

NN
-l
-

><
=
=23
(=2
p=



Series ZP3
Buffer Assembly Part No.

Vacuum Iniet Direction AAAALLZEL

Buffer assembly part no. |Weight(g) ZP3B-T1Jm-B3 ZP3B-T1KE-B3 Applicable pad part no.
ZP3B-T1J3-B3 3.5 o7 ZP3-015U
ZP3B-T1J6-B3 4.3 05 e ZP3-02U
ZP3B-T1K3-B3 6.7 M3x05 Wﬁ.‘ ZP3-035U
ZP3B-T1K6-B3 8.1 Width across flat4 | | | Width across :ﬂ o]

Width L fats____ C
across flat 8 X\g‘d% across N
o v \
a paom 3 o | ST 3
Lf ~ L
o mexozs ] [ *U— M8 x 0.75
[5 <
o 3l co8 |

Dimensions (per stroke) - ° 915 0 08 | || Dimensions (per stroke)

Model A | B|D 92 \width across 015 [ | Model A | B|D
ZP3B-T1J3-B3| 4 | 21 | 10 fiat 5.5 02| | ZP3B-T1K3-B3| 5 [23.5]11
ZP3B-T1J6-B3| 7 | 28 | 14 ZP3B-T1K6-B3| 8 [30 |145

Buffer assembly part no. |Weight(g) ZP3B-T2AJHE-B5 ZP3B-T2AKE-B5 Applicable pad part no.

ZP3B-T2AJ3-B5 741 o7 ZP3-04UM
ZP3B-T2AJ6-B5 8.3 V508 ZP3-06UM
ZP3B-T2AJ10-B5 | 102 ggg—gig"‘
ZP3B-T2AK3-B5 7.0 Width across flat 6 *1 ZP3-06B
ZP3B-T2AK6-B5 8.3 ] N ZP3-08B
ZP3B-T2AK10-B5 | 10.2 idth across *I
@ ~ VT
° Dl
| A M8 x 0.75
S 17
Width fﬂ
<| acrossflat7 Dimensions (per stroke]
o f’ Model A|B[D
© ZP3B-T2A%3-B5 5 | 24511
® 018 J ZP3B-T2A%6-B5 | 8 |31 |145
23 ZP3B-T2A*10-B5 | 12 |41 [205
.25 Note) The symbol "7¢" indicates buffer type "J" or 'K".
Buffer assembly part no. |Weight(g) ZP3B-T2AJBEE-B5 ZP3B-T2AKHEE-B5 Applicable pad part no.
ZP3B-T2AJB15-B5 | 10.0 7 ZP3-04UM
ZP3B-T2AJB20-B5 | 10.6 M5 x 0.8 ‘—" 523-06Um
ZP3B-T2AK15-B5 12.0 Width across flat 6 7Lj ] Zpg:gzg
ZP3B-T2AK20-B5 131 Width across T Bushi T ZP3-06B
flat 10 I? ushing l 230
e x %K 3 Bushing 3
[ _
i M8 x 0.75
1]
<
Width across
flat 7
iﬁ i Dimensions (per stroke)
1 Model A | B
A ZP3B-T2A¥15-B5 30.5|49
of = ”"33} ZP3B-T2A%20-B5 |38 |565
e Note) The symbol "7¢" indicates buffer type
|5 | "JB" or K.

1170



Vacuum Inlet Direction Vertical

Buffer Assembly Part No. Series ZP 3

[* Refer to the 897 for nut tightening torque. ]

Buffer assembly part no. |Weight(g) ZP3B-T2BJEE-B5 ZP3B-T2BKEE-B5 Applicable pad part no.
ZP3B-T2BJ3-B5 7.8 ZP3-10UM
ZP3B-T2BJ6-B5 8.9 M5 x 0.8 o7 ZP3-13UM
ZP3B-T2BJ10-B5 10.9 §FP’§-:ggM
ZP3B-T2BK3-B5 77 Width across flat 6 VI ZP3-13B
ZP3B-T2BK6-B5 8.9 T ZP3-16B
ZP3B-T2BK10-B5 | 109 fapuh across I
ol ST
o C L
T M8 x 0.75
—
Width across T
<|flat 10 ‘u
— Dimensions (per stroke|
Model A | B|D
b 01.8 ZP3B-T2B>:3-B5 5 24511
T 04 ZP3B-T2B#6-B5 8 [31 [145
06 ZP3B-T2B+10-B5 12 |41 205
Note) The symbol "3¢" indicates buffer type "J" or 'K".
Buffer assembly part no. |Weight(g) ZP3B-T2BJBEE-B5 ZP3B-T2BKEE-B5 Applicable pad part no.
ZP3B-T2BJB15-B5 125 o7 ZP3-10UM
ZP3B-T2BJB20-B5 15.6 M5x0.8 =~ . ZP3-13UM
ZP3B-T2BK15-B5 14.5 Width across flat 6 1 <} ZP3-16UM
~ Width across -
ZP3B-T2BK20-B5 | 156 Widih across | Busting | %gg_}gg
|/~ i ZP3-16B
(Y E ushin
2 S |3 2ehne 5
]l —
| M8 x 0.75
) 2P3
x\gﬁ%across ZPZ
4] E d Dimensions (per stroke i
I E Model A|B 7P
o181 ZP3B-T2B+*15-B5 |30.5|49
2 o4 ZP3B-T2B#20-B5 |38 [56.5 | [zPT
06 Note) The symbol "3 indicates buffer type ZPR

“JB" or "K".

1171

><
=
=23
(=2
p=



Series ZP3

Vacuum Inlet Direction teral

Bg:;;f{:?;'g:" o} We‘ghé‘g) ZP3B-Y1Jm-B3 ZP3B-Y1Km-B3 Ap’?;ie ‘:;:;’;”"'
ZPSB:Y 1 J6:B3 55 Width across flat 4 [-——‘”5 Width across fat 6 (27~ ZP3.02U
ZP3B-Y1K3-B3 10.9 Width actoss fat § | }?Ii‘dgrbacross S ZP3-035U

al
ZP3B-Y1K6-B3 121 LA
o o 3
‘1 o| SR TR
o i M6 x 0.75 T
- o
= [TT M8 x 0.75
< o e jL
A= Sk
" Wi
0.8 32
o g oo 2 e
@ 00.8 2
02 o15] |,
, 02
Dimensions (per stroke) A 7 Dimensions (per stroke
Model A|B|D © T Model A[B|D
ZP3B-Y1J3-B3 14 | 27 | 10 ZP3B-Y1K3-B3 14 |31 |11
ZP3B-Y1J6-B3 17 | 34 | 14 8 ZP3B-Y1K6-B3 17 |37.5]14.5

Bfeifassermblypaifiol o) ZP3B-Y2AJNN-B5 ZP3B-Y2AKNN-B5 Applcable pad part o
ZP3B-Y2AJ3-B5 125 | o ZP3-04UM
ZP3B-Y2AJ6-B5 13.9 Width across flat 6  «——= ZP3-06UM
ZP3B-Y2AJ10-B5 16.3 X\li‘d%across % ZP3-08UM

a
ZP3B-Y2AK3-B5 11.9 A %:g-ggg
ZP3B-Y2AK6-B5 13.1 o -
o Lyamiy, ZP3-08B
ZP3B-Y2AK10-B5 15.1 R LHE*
@ q I’ M8 x 0.75
< s
o [
ZA4i4mI
=l
v « 01.8 . .
o X 03[ Dimensions (per stroke
05 Model A | B | D
ZP3B-Y2A+:3-B5 16.5] 34 |11
© K\ ZP3B-Y2A+:6-B5 19 40 |14.5
\j ZP3B-Y2A5:10-B5 |23 50 |20.5
8 Note) The symbol 3" indicates buffer type "J" or "K".

Buffer assembly part no. |Weight(g) ZP3B-Y2AJBENE-B5 ZP3B-Y2AKEE-B5 Applicable pad part no.
ZP3B-Y2AJB15-B5 | 14.0 ) o7 ZP3-04UM
ZP3B-Y2AJBZO-BS 14.8 Width across flat6 | 27, ZPS'OGUM
ZP3B-Y2AK15-B5 15.2 Width across flat 10 ZP3-08UM
ZP3B-Y2AK20-B5 | 163 I Bl Bushi ZP3-04B

® ok —_— ZP3-06B
T [1.M8x0.75 ZP3-08B
o
@
< (=}
o
s
N ml
¥4 m: r
i
o < 21843 Dimensions (per stroke
el Jos| Model A[B
ZP3B-Y2A%15-B5 |36.5|53
m[@ ZP3B-Y2A%20-B5 |44 |60.5
8

Note) The symbol "¥" indicates buffer type
B or K",

1172




Vacuum Inlet Direction IICUS ]

Buffer Assembly Part No. Series ZP3

[ Refer to the 897 for nut tightening torque. ]

Buffer assembly part no. |Weight(g) ZP3B-Y2BJEE-B5 ZP3B-Y2BKEE-B5 Applicable pad part no.
ZP3B-Y2BJ3-B5 13.0 ZP3-10UM
ZP3B-Y2BJ6-B5 14.3 ZP3-13UM
ZP3B-Y2BJ10-B5 16.7 ) L7 ZP3-16UM
ZP3B-Y2BK3-B5 12.4 Wldthracr.oss flat 6 ggg-:gg
ZP3B-Y2BK6-B5 13.6 L acioss \g ZP3-168
ZP3B-Y2BK10-B5 15.5 R
a L
o = H_M8 x 0.75
)
o
< o VB
T - 0,
C ®
o
<} of ztﬂ ‘ x
- 4 =
= LBLG.]- Dimensions (per stroke
Model A | B|D
7N ZP3B-Y2B+:3-B5 165 34 |11
w] N ZP3B-Y2B+:6-B5 19 40 |14.5
8 ZP3B-Y2B>:10-B5 |23 50 [20.5
Note) The symbol "¥¢" indicates buffer type "J" or "K"
Buffer assembly part no. |Weight(g) ZP3B-Y2BJBENE-B5 ZP3B-Y2BKEN-B5 Applicable pad part no.
ZP3B-Y2BJB15-B5 14.4 ZP3-10UM
ZP3B-Y2BJB20-B5 15.2 Width across flat 6 ZP3-13UM
ZP3B-Y2BK15-B5 15.6 Width across flat 10 27, ZP3-16UM
ZP3B-Y2BK20-B5 16.7 %gg:: gg
(AN Bushin -
e H ZP3-16B
Tl M8 x 0.75
o
<
4
o F
-
E)
+f ol 018 ‘2
mleall ] 2 Dimensions (per stroke
Lﬂﬁj Model A | B
7N ZP3B-Y2B*15-B5 |36.5|53
°°] N2 ZP3B-Y2B#20-B5 |44 |60.5
8 Note) The symbol " indicates buffer type

"JB" or "K".

P2y

MEH =

NN
-l
-

><
=
=23
(=2
p=

1173



	Vacuum Pads
	Vacuum Pads Series ZP3
	Compact Pad/Pad unit
	How to Order, Dimensions

	Compact Pad/Vertical vacuum inlet/With adapter
	How to Order, Replacement Part No., Dimensions（Flat: φ1.5 to φ3.5）
	Dimensions（Flat with groove: φ4 to φ8）
	Dimensions（Flat with groove: φ10 to φ16）
	Dimensions（Bellows: φ4 to φ8）
	Dimensions（Bellows: φ10 to φ16）

	Compact Pad/Vertical vacuum inlet/With buffer
	How to Order, Specifications, Replacement Part No.
	Dimensions（Flat: φ1.5 to φ3.5）
	Dimensions（Flat with groove: φ4 to φ8）
	Dimensions（Flat with groove: φ10 to φ16）
	Dimensions（Bellows: φ4 to φ8）
	Dimensions（Bellows: φ10 to φ16）

	Compact Pad/Lateral vacuum inlet/With buffer
	How to Order, Specifications
	Dimensions（Flat: φ1.5 to φ3.5）
	Dimensions（Flat with groove: φ4 to φ8）
	Dimensions（Flat with groove: φ10 to φ16）
	Dimensions（Bellows: φ4 to φ8）
	Dimensions（Bellows: φ10 to φ16）

	Compact Pad/Lateral vacuum inlet/With buffer
	How to Order, Specifications, Replacement Part No.
	Dimensions（Flat: φ1.5 to φ3.5）
	Dimensions（Flat with groove: φ4 to φ8）
	Dimensions（Flat with groove: φ10 to φ16）
	Dimensions（Bellows: φ4 to φ8）
	Dimensions（Bellows: φ10 to φ16）

	Construction
	Adapter Applicable Pad List
	Buffer Applicable Pad List
	Mounting Adapter Part No.
	Buffer Assembly Part No.



